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139 | EUE [ 15800 | aan [+ Lil:] A6 [ 13800 [ 51% |+:9700, H:11.100
(G % | 102 | e | ise00 [ am [ [ 18| 13600 | 514 [ 000, 56500
[Cocioa [ #iE [ 15800 [ 4% [+ Lil:] a8 [ 13800 | 5i% |+.700, H:9.000
106 | FUE | 15800 | aa% [ BIE B8 | 13800 | Gi% [+:10600, H:0700
110 | iE | 15800 | aa% [ BIE B | 13800 | Gi% [+:11.100, H:0.700
112 | H | 15300 | 46% | BiE | 14300 B | 13300 | 3% [+:11.100, H:0.700
114 | H | 14800 | a7% [ BIE L] I
116 | UE | 14800 | a7% | BIE LilE]
[Cocre [ @E [ 4800 [ 4w [+ Lil:] Lil]
[Ttz @iE [ 14800 [ 4 (A1 Lil:] Lil]
[Coci2a T giE [ 15300 [ 468 [E:1 #E [ 14300 | Lil]
[CoCi26 T #iE [ 15300 [ 468 [E:1 #E [ 14300 | Lil]
[Cocizs T giE [ 15800 [ 4a% [+ Lil:] Lil]
[Cociso [ giE [ 15800 [ 4% [+ Lil:] Lil]
[CJliaa | giE [ 15800 aax [E1 BTE [ 14800 [ilE]
138 | FiH | 15800 44% [T [ilE] 00 [ilE] 111,100
TROR S | R E I | #e | 1580 e A5 [l 400 H:14000 BT | 14100 | 500 [ 5:13.700. £:14.400. H:13000 B 12700 E13300 AT190
[Cotz2s [ giE [ 13100 638 [ A1 2,600 Lil:] 600 A1 [ 11,100 [ 60% | A:9.700, 00 11,000 61% [ 7:9,600, H:10500
[Jl229 | BiE | 14200 | 49% [%:17200, F:15400. 616900 L=} 15200, B16.700 BIE [ 11,700 | 58% [$:15000, F:13.700, H:15200 10600 [ 624 | 13900, F:12600, B:14,100
KR (A7) 3% | J220 | BUE | 13.100 | 53% [A:12.700, 12700, H:12.700 L] 12,600, 512,600 BB | 11300 | 60% |A:10.200, %:11.500 59,100, F:10400
[Cot22a B8 [ 1a000 | 64% [/7:11.900, $:14.000. F:12.900, B:14000 Lil:] B7% 13,000, £:11.900. H:13.000 BH | 11,000 | 61% |5:0.900, 12,000, F 10,000, H:12.000
228 | @B | 16600 41% |A:16200, $:16900. £:14.600. B:16.500 BIH | 16200 [ 42% 15.200, :16.500, £:14.400, H:16.300 BiE | 14700 [ 484 | 5:13700, $:15000, £:12900, H:14.800
T EE ] TR R | J80 | #e | s9200] i [l 3631400, 31400, 31400 SEH | 29400 |_34% | 775300, 76:300. £.26.00. H.2.200
[Jc30s | #iE | 39200 2% Lil:] 364 31,400, 7K 31.400, F:31 3EH] | 26300 [ 41% 20400, 7K:29.400, 7:29.400, H:24.200
[Cotsor T giE [ 30200 [ 128 L] 36% 3 7K:32.400, #:32.400 SHFT_| 30400 | 32% [7:26.300, %:27.400, +:26.300, H:24.200
| Jrsoo | RiE | 39200 | 2% BE [ 28600 | 36% 32,400, 7K:32.400, #.:32.400 SHFT_| 30400 | 32% [7:27.400, %:27.400. :26.300, H 25300
[Comii | @i [ 39200 [ 2% Lil:] 364 132,400, 7K 32.400, F:32.400 3B | 30400 [ 324 |5:27.400, 27400, £:26300, H:25.300
[Cm3is | @i [ 39200 [ 2% Lil:] 364 132,400, 7K 32.400, F:32.400 3B | 30400 [ 324 |5:27.400, £:27400, £:26300, H:25.300
[Com3is | @i [ 39200 2% Lil:] 364 3 7K:32.400, F:32.400 36# | 26300 | 41% [ %:30.400, 7k:30.400, %:30400
[Tt giE [ 30200 [ 2% #E | 28600 | 36% :31.400, 7K 31,400, F:31.400 36# | 26300 | 41% [%:29.400, 7k:29.400, %:29.400
[Com3ie | @i [ 39200 [ 2% Lil:] 364 :31.400, 7K 31.400, F:31.400 36# | 26300 | 41% [%:29.400, 7k:29.400, %:29.400
[Cocs21 | @i | 39200 [ 2% Lil:] 364 31,400, 7K 31.400, F:31.400 3EH) | 26300 [ 41% 20,400, 7K:29.400, #:29.400, E 25300
[Cocs2s | @i [ 39200 [ 2% Lil:] 364 3 7K:31.400, F:31.400 3EH) | 26300 [ 41% 20400, 7K:29.400, #:29.400, F:25300
[Cotsas T giE [ 30200 [ 2% BE | 28600 | 36% 31,400, 7K 31.400, F:31.400 3EH) | 26300 [ 41% 20400, 7K:29.400, #:29.400, F:25300
[Cocse7 | #iE | 39200 [ 12% Lil:] 364 31,400, 7K 31.400, F:31.400 3EH) | 26300 [ 414 20400, 7K:29.400, 7:29.400, F:25300
[Cotsas TgiE [ 30200 [ 128 L] 36% :31.400, 7K-31.400, :31400, :33.400 SHFI_| 20400 | 34% [7:26.300, 30,700, +:25.300, H 26,300
[Cacsar BIH | 30200 [ 12% L] 36% :31.400, 7K-31.400, :31.400, $:33.400 SHFT_| 20400 | 34% [7:26.300, %:30.700, £:24.200, H 26,300
[Cotssa T @iE [ 30200 [ 2% BIE | 31400 | 29% |J3:20200. $:33.400. F 28,600, H:26.600 SEFI_| 20400 | 34% [7:26.300, &:31.400, £:24.200, H 26,300
[Totsss | @iE | 30200 [ 2% BB | 31400 [ 20% 129,200, $:33 400, 28600, H:28,600 SHFI_| 20400 | 34% [7:26.300, &:31.400, £:24.200, H 26,300
TEE |00 | me [ 39200 ] 1on [T} ) 100 :31.400 SEH | 29400 |_o4% | 775300, 26.300. E.26.00. H.26.300
[Cutso2 | piB | 36200 [IlE] 36% | 31,400, K 31,400, 31400 SEHT {345 [/5.26.900, 26,900, F 26 300, 526,300
[Cocsoa T#iE [ 39200 #E | 28600 | 36% 31,400, 7K 31,400, F:31.400 3B | 20400 | 344 |5:26.900, $:26.900, £:26 300, H:26.300
[Jc306 | g1 39.200 L] 364 31,400, 7K 31,400, F:31.400 3B | 20400 | 344 |5:26.900, $:26.900, £:26300, H:26.300
[CJcs0s | g 39.200 L] 364 31,400, 7K 31,400, F:31.400 3EH | 26300 | 41% [ :29.400, 7k:29.400, %:29.400
[oCsio | WiE 39200 LI} 36| X 31400, 31400, 31400 Y
[iaiz | gie | 39200 HTE [ 28600 | 365 | 31400, 7Ki31.400, 31400
R 7= 0 LI} 36| X 31400, 31400, 31400
[otate | WiE 9200 LI} 364 [ Je:31.400. K31400, 31,400
[Cocsie T #iE | 30200 Lil:] 364 131,400, 7K 31.400, A:31400. $28.700
(320 | g | 39200 ATE | 26600 | 36% | X 32400, 7K:32 400, 32,400, 28,700
[Cocs22 T giE | 39200 Lil:] 364 132 400, 7K:32.400, :32.400, $:28.700
[Cocs2a T giE | 30200 Lil:] 364 132,400, 7K:32.400, #:32.400. $:30,600
[Cocsas T giE | 30200 Lil:] 364 132,400, 7K:32.400, #:32400. $:30,600
[La2s | g | 39200 ATE | 26600 | 36% | X 32400, 7K:32 400, 32400, 32200 S0 % X
[CJcss0 | #iE | 39.200 L] 364 31,400, 7K:31.400, A:31400, $:32.200 3EH | 26300 | 41% 20,400, 7K:28.400, F:29 400, §:28.700
332 | fiB | 50200 fIlE] 36% | 31400, K 31.400, 31400 3Ef_| 20400 ] 724,200 24700, F 24200, H.25300
RIR (R AR (W FR)| AR (A% | JL2001 | #IH | 45000 42500, 42,200, B:42500 HE 15% | /5:39.200, 438,000, +:42.000, 5:39.200 SER_| 37600 | 245 [ J:41.000, 7K:41.000, A:41.000
[[Jt2003 #iH [ 45000 42500, 42,200, H:42.500 HIE | 42400 | (5% |3:39.200. $:38.000. F:42.000, H:39.200 3EH1_| 37600 | 24% | :41.000, 7K:41.000, K:41.000
[(3t2005 [ #iH | 45000 42500, % 42.200, H:42.500 L] 15% | 3:39.200, %:38.000. F 42000, H:39.200 3EH1_| 37600 | 24% |:41.000, 7K:41.000, K:41000
[(32007 #iH [ 44000 41500, §:41.200, H:41 L] 17% | 3:38.200, #:37.000 F 41,000, H:38.200 3EH_| 36600 | 264 | 40,000, 7k:40.000, :40000
[aC2008 [ g [ 42700 25 600 % 41900, F36.000_ H 26500 L} 47%_| 711800, 27,700, 21,600, 523,100 REEL 1] 20700, 24200, :18800_ H2T400
2019 | §IH | 44800 [ 540,600, %:42.200, B:40,600 WIE | 42400 | 15% |73:37400. $:36 100, +:40000, H:37.400 3B | 35800 | 284 38900, 7K:38.900, A:38 900, F:37.600
FLOR (Wi )3 |_JL2000 | #IH | 30600 | 20% |H25100, $:40.100, £ 41,700, H:27500 WE | 25300 | 49% | 521,300, $:31.800. T 26,800, H:23.800 SER_| 22200 | 554 | A:19.700, 800, +:24.300, H:22.100
[(3t2004 g H 41,000 25,400, 40,000, :43 100, H:28.000 HIE | 24900 | 50% | 521,800, $:27700. F:31.100, H:24.800 3EH_| 21900 | 24200, F 29,300, H:23200
(2006 | g | 42300 25,600 & 39800, 44500, 6 28500 ATE [ 24900 | 505 | /521,800, $:27.700. 31100, B24.800 REEL 1] 24700, F 30,100, 523,200
[[J2008 T #iH [ 43700 34,100, 41,000, F:44.800, B:35.500 HIE | 24400 | 51% | 521,300, $:27200. F:30600, H:24.300 3EH_| 21400 | ) 700, $:23.700, 26,600, B:22.700
[[Jz0t0#iH [ 45000 42500, 42,200, H:42.500 L] 15% | /3:39.200, %:38.000, F 42,000, H:39.200 3EH_| 37600 | 24% [ %4100, k:41.000, K:41.000
[[Jtz0t6 | #iH | 45000 42500, 42,200, H:42.500 L] 15% | /3:39.200, %:38.000, F 42,000, H:39.200 3EHI_| 37600 | 24% | 41,000, k41,000, K:41000
KR (A7) % | JL2501 | BiE | 42,700 [ 28,800, 40,100, F 43,900, 526,100 HE 39% | 27,300, $:33.500, T 31,900, H:24.600 SEf_| 27200 | 45% | 3:25900, & 30500, :30.500, B 23100
[[Jr2503 [ #iH | 38600 | 22% |5:19000, % 37.800, F:34.100, H:25400 HIE | 26200 | 47% |7:17500. $:27600. F:21.700, H.23.800 3B | 23,100 | 544 |5:16.100, 24000, :18600, H:22.400
2505 | §IH | 37600 | 24% |F:23000, 35900, :33100, H:26900 HIE | 25200 | 49% |5:21500. $:26600. F:20.700, H.25400 3EH | 22100 | 564 | /320,100, $:20400, :17.600, H:23.900
FLOR (Wi )3 | JL2502 | AIH | 40100 | 19% | 523000, I 41800, B:27.600 L] 44% | 721,500, $:29.300, H:26.100 SEF_| 24700 | 505 | 74:20.100, #:26.300, £:26.300
[CJr2504 | g1 | 37.100 | 25% |F:23000. B28.600 Lil:] 424 21700, 30,600, £:27.700, H:27.300 3EH | 25900 | 48% [/5:20.3¢ 21500, F 26,300
2506 | #IE | 42700 | 14% | 5:27.000, #:40.100. H:33.400 AiE | 30300 | 39% |3:26.400, £:28,600, B:31.900 36H1 [ 27200 | 454 /26000,
FEER T | ARG R [JL206 | B 23500 | 1% WiE 30 WiE
[Ctz053 | B | 23600 | 1% L] 29% Lil:] 7.16.300, H:15.300
[Jt2061 | #iH | 23600 [ 4% Lil:] 318 #E [ 12,800 $ 5:13.100
TER [JL2050 | HiB 23600 ia% WiE E) Wi [ 12600 | 5% ]
[(ot2058 |#iH | 23600 [ 1a% Lil:] 29% WiB | 13600 [ 5% |H14100
["Jt2060 | #iH | 23600 [ 4% Lil:] 304 W18 [ 13100 [ 53% |$H 13600
WE-TLE TR RER [J3s13 | #iH | 40100 | 34% |)5.36400. &:41600, F 36500, H:36400 HE 47% 733300, N=ER 3EFL 5:30.300. F:30.300, 5:30.300
3516 | #IE | 37.600 | 38% |AB:33,800, #:39.000, F:33900, H:33.800 AiH | 28900 | 53% |5:30.800, £:27.700, B:27.700 36H1 [11500 [ 818 [5:27.700
FLOR (Wi )3 | JL3510 | AUH | 37600 | 38% | 533800, F 38500, B:33.800 HE 53% | 3:30.800, F 27700, H:27.700 3EH | 11,500 | 81% [/5:27.700
3512 | #IE | 40.100 [ 34% | A:36400. F:41.000, H:36.400 AiH | 32500 | 47% | 5:33300, +:33.300, B:33.300 3581 [ 31500 | 48% [/3:30300, £:30300, H.30300
FR () RE HR(PE) % | _JLi6l BB | 18300 | 40% [F21100, 00 L] AT 100, B:19.100 BE | 53% [ +:17.100, B:17.100
[Cocies | #iH [ 21800 [ 208 [|@:21.100 #E | 19800 [ 35% 100 wiE | 17800 428 1@
[Cocies | #iH [ 20700 328 [5:18.800 Lil:] 39% [ 7:16.800 WiB | 16700 [ 45% |5:14800
[Tocie7 | miE | 21200 3% WE | 19200 37% #E [ 17200 | 44% [5:15300, 17,800, £:16.700, H:17.700
RER [JCt62 | @iE | 21600 | 29% |5-20800, F:22.300, B:22.300 HE 36% | 3:18.800, F 20300, H:20.300 HE [ 17800 | 42% |A:16.800, +:18.300, H:18.300
[Coctea | #iH [ 21100 31% |)5:18.800, F 21,800, H:21.800 L] 38| 7:16.800, £:19.800, H:19.800 WE | 17.200 | 44% | 5:14800, £:17.800, H:17.600
[Cocies | #iE | 21800 208 L] 354 wiB | 17800 474 |
[Tocies | #iH | 18300 [ 4o0% |F21000. B2 L] 47% | 19,000, B:20.100 W8 | 14300 | 53% |F:17.000, B:18.100
[Cociss | #iH | 15000 45% [5:13:800, 100. WiE | 14100 [ 49% [F:12800, 100. 3HW | 13.100 | 53% |7A:11.800, $:14.400, F:14.200
[Cocies T #iE [ 17.700 [ 36% [+:16.700, B.16.200 L] 39% [ F:15.700, B:15200 3EW [ 15700 | 43% [+:14.700, B:14200
[Cocier | #iH [ 16200 41% | 513,800, 16,900, H:16.700 L] 45% | 712,800, $:15900, B.15.700 SEWT | 14200 | 49% |7A:11.800, $:14900, H:14.700
[Cociss | #iH | 16200 418 [5:13:800, 00, B:16.700 L] 45% | 7:12.800, 00, B:15.700 SEWT | 14200 | 49% | A:11.800, $:14900, B:14.700
[Cocier [ #iH | 16200 418 [5:13:800, 816,700 L] 45% [ 7:12.800, . B:15.700 SEWT | 14200 | 49% | A:11.800, $:14900, B:14.700
193 | WiH | 16200 | 41% |7:13800, &:17.200, F:15600, H.16,700 HE 45% [ 73:12.800, $:16.200, £:14,600, B:15.700 SE_| 14200 | 49% [7:11.800, $:15.200, E:13,600, H:14.700
TN [JCieo | #i8 | 16200 | 41% | 514,300, %:16400, £ 16,700 H:15600 L] 45% | 3:13,300, 15400, F 15700, 514,600 3EW | 14200 | 49% | 512,300, %:14400, +:14.700, H:13.600
[CoCisa T #iE | 15000 | 45% |5:14:300, #:15900, £:16200, 00 WiE | 14100 [ 49% /513000, 00, £:15.200, 00 SEA | 13100 | 53% [7:12000, $:13900, F:14200, H:13.700
[CoCiss T #iH [ 15100 45% | 514300, 15900, F:16.200, B:15.700 WiE | 14100 | 49% [3:13:300, $:14.900, £:15200, B 14700 SEA | 13100 | 53% |7:12.300, $:13900, F:14200, H:13.700
[Cociss T #iH | 15800 | 43% [5:16.300, 416,600, £:16.200, B:16.700 WiE | 14800 | 46% [48:15600, £:15200, B:15400 3EA_| 13800 | 50% |#:14600, +:14200, H:14.400
[Torte0 | #i8 [ 16900 | 39% |+ 16200, H:16.700 L] 42% | F:15200, B:15.700 SEW | 14900 | 46% | +:14.200, H:14.700
[ocie | #iH | 15900 [ 428 [)5:14300, 00, £:15.200, B.15.700 WiE | 14900 | 46% [/:13.300, 00, :14.200, 5:14.700 A | 13900 | 50% |7:12.300, $:14200_ E 13200, H:13.700
[Jrzst WiE | 19,600 L] 49% HE 13900
[Cor2as [ wiE | 19600 L] 494 WiB | 15900 | 57% |+:14900, H:13900
[Cocesr T wiE [ 19600 L] 49% WE | 14900 | 15,900
[Cor23s | wiE_| 19,600 L] 49% WE | 15900 | 57% |%:17.100, F:14.400, H:16.500
241 | WiB | 19,600 Lil=] 49% WiE | 15900 | 67 [9:17.100, F:14400
EE [ | e [ 19600 fil:] 5 Wi [ 13500 | _ez% |
[Cot2aa [ wiE | 19600 L] 494 WiB | 15900 | 57% |F:15400, H:14900
[Coc2se T wiE 19600 L] 49% WE | 14900 |
[Cot2s0 T wiE 19,600 L] 495 WiB | 15900 [ 574 |F:714400
[Corea2 T wiE | 19,600 L] 495 WiB | 15900 | 57% |+:14400, H:15400
ERCAE)-E5S AR CAm)% | _JL253 | WiE | 22600 HE % WiE
[Cotess | miE | 22600 L] s WiB | 17000 [ 55% |H:.12600
[Cotes7 [ wiE {22600 L] s WiB | 18000 [ 574 |H:14200
[Cotese | wiE | 22600 L] s WiB | 17500 [ 54% |H:14200
[Cote61 | wiE | 22600 L] s WiB | 14700 [ 6i% |F:14200
[Coczes T wiE | 22600 L] 4% wiE | 14700 [ 1% |+
[Cote6s | wiE | 22600 L] s WiB | 16900 | 55% |+:13600, B:17.500
267 | #iH | 22600 L] 4% wiB | 17500 [ 5a% |+
EERR [z [ we [ 22600 fil:] s WiE [ 13600 | _68% |
[Coresa | miE | 22600 L] iy WE [ 17,500 | 54% |H:13600
[Cotes6 | wiE | 22600 L] s WiB | 14700 [ 618 |H:14.100
[Cocese T wiE | 22600 L] 4% wiE | 14700 | 6% [H
[Cote60 [ wiE | 22600 L] s WiB | 14700 | 6i% |+:14.200, B:17.400
[Cote62 | wiE {22600 L] s WiB | 14700 | 6i% |+:14.200, B:17.400
[Cotz6a | miE | 22600 L] s W8 | 17500 | 54% |+:13600, B:17400
[Tot266 | wiE | 22600 [ 20 L] s W8 | 17500 | 54% |+:13600, H:16900 —
B () -LOFE [di2e1 | wiE | 28000 33% i} a0, HTE [ 19600 | 538 |:18:300, F:19.700, H:18:300 T5500 | 63% T3500, F.16600_ HL15100
[Cot2es T #iH | 28000 [ 3% L] 40% WE | 19900 [ 53% |$:19400, H:20.100 ["16700 T 60% 5,300, E:17.1 300
[Cot2es | wiE | 28000 | 33w L] 405 WiB | 20200 [ 52% |%:20400, +:19.200, §:22.100 B _| 17,100 504 17300, £:16, 300
207 | WiB | 28000 334 Lil=] 40% WiB | 19000 | 55% |+:18600, :20400 B _| 17100 504 17300, :16.100, H:19.300
WOF&% | _J290 | MH | 28000 33% L] 40% WE | 18800 | 55% |$:19200 Bf | 17600 588 17,500, H:16.100
[Cot2e2 T #iH | 28000 [ 30% L] 40% WE | 20400 [ 5% |$:20600, H:19.200 Bf | 17600 | se% 17,500, H:16.100
[Cotzea T#iH | 28000 [ 30% L] 404 WE | 20200 | 52% |%:21.100, £:20400, B:22.100 B _| 17,100 59% 18, £:17.30¢ 300
[Jt206 [ wiH [ 28000 [ 38k i) 40% WiB | 19800 [ 53% |%:22.400, +:18,800, H:22.100 | 788 | 15600 634 19,500, £:15.100, H:19.300
[uiass | B [ sti00] 1o WE | 29700 | 0% | 27600, 27600 K] [—a1% [ k28700, 728,100, 28,700, H20400
T 7= TN B 718 | 26700 | 0% | 327.600- 27600 S| 21400 | 41% | 26,700 X 26,700 7 28700 B 20400
[Jaso | wiE | 31700 [ 3% WH | 29200 [ 20% [/:27.600, H:27.600 SE# | 21400 | 418 | X:28.700, :28.700, 28,700, H:20.400
[Jtaer | wiE | 31700 [ 3% WH | 29200 [ 208 [/:27.600, H:27.600 3EW | 20400 | 44 | 28,700, %:28.700, B:22.500
[Curaes | miE [ aijo0] tow WE_| 29200 | 20 [F527.600. 627,600 Y] 26,700, :28.700, F:20400
465 | 18 | 31700 | 13% WE_| 29200 | 20 5527600, 627,600 Y] 26,700, :28.700, £:20400
®EE [ L2 | FE [ 81700 1% WE_| 29200 | 20 [F527.600. 627,600 Y] #.17.300, £:17.800. H:16.900
[Jasa T Wi | 31700 [ 3% WH | 29200 [ 20% [/:27.600, H:27.600 SEWT | 16900 | 53% |X:28,700, :28.700, 28,70
[Jiase | wiE | 31700 [ 3% WH | 29200 [ 20% [/:27.600, H:27.600 3EWT_ | 16900 | 53% |X:28,700, :28.700, :28.700
[JLa60 | wiE | 31700 [ 3% WH | 29200 [ 208 [/:27.600, H:27.600 3EWT | 23700 | 35% |X:28,700, :28.700, :28.700
[Jiae2 | wiE | 31700 [ 3% W8 | 20200 [ 208 [/:27.600, B:27.600 3E# | 23700 | 35% |X:28.700, :28.700, 28,700, 21400
[ Jiaea | WiE | 31,700 [ 3% W8 | 20200 | 204 |/:27.600, B:27.600 3B# | 23700 | 35% |X:28.700, :28.700, A:28.700, 21,400
[Jcars | miE | 28000 | 23% L] 24% W12 | 23,100 | 36% [2k:24.200, 7k:24.200, K:24.20(
[Cocarr | miE | 28000 | 23% L] 24% WIE | 23,100 | 364 |2k:24.200, 7k:24.200, X:24.200
[Cocare | miE | 28000 | 23% L] 24% WIE | 23,100 | 36% |2k:24.200, 7k:24.200, X:24.200
[Cocas1 | miE | 28000 | 23% L] 24% WIE | 23,100 | 36% |2k:24.200, 7k:24.200, X:24.200
[JLass | miE | 28000 | 23% L] 24% WIE | 23,100 | 36% |2k:24.200, 7k:24.200, %:24.200
[JLass | miE | 28000 | 23% L] 24% WIE | 23,100 | 36% | 2k:24.200, 7k:24.200, X:24.200
467 | e | 28000 | 20% Lil:] 245 HE [ 23100 [ 36% |J:24.200, 724200, 24200
Bk | Jl4/4 | WiB | 28000 23% L] 24% WIE | 23,100 | 36% |2k:24.200, 7k:24.200, X:24.200
[Cocare | miE | 28000 | 23% L] 24% WIE | 23,100 | 36% |2k:24.200, 7k:24.200, X:24.200
[Cocare | miE | 28000 | 23% L] 24% WIE | 23,100 | 36% | 2k:24.200, 7k:24.200, X:24.200
[Jcaso | miE | 28000 | 23% L] 24% WIE | 23,100 | 36% | 2k:24.200, 7k:24.200, X:24.200
[Totas2 | wiE | 28000 | 23% L] 24% WIE | 23,100 | 36% |24:24.200, 7k:24.200, X:24.200
[TJtasa | wiE | 28000 | 23% L] 24% WIE | 23,100 | 36% |2k:24.200, 7k:24.200, X:24.200
[Jass | miE | 28000 | 23% L] 24% WE_| 23,100 | 36% |k:24.200, 7k:24.200, X:24.200
[aLeo1 || 54200 LT 2% 7128300 E28300 357 [ [ J29200. 29200 29200
[Cocass T wiE | 34200 L] 225 | 728,300, B:28.300 3EWT | 25400 | 34% |X:29.200, %:29.200, :29.200
[Cocass TwiE | 34200 L] 225 | 728,300, B:28.300 3EWT | 25400 | 34% |X:29.200, :29.200, :29.200
[Cocasr wiE | 34200 L] 225 | 728,300, B:28.300 3EWT | 25400 | 34% |X:29.200, :29.200, :29.200
[Cocaso T wiE | 34200 L] 225 | 728,300, B:28.300 3EWT | 25400 | 34% |X:29.200, %:29.200, :29.200
FT T  Y T I 1 ) pil:] 22T F.26.300. 11.26.300 SB[ 25400 |3 | 29200, 29200, 25.200
[Cocase T wiE | 34200 L] 225 | 728,300, B:28.300 3EWT | 25400 | 34% |X:29.200, %:29.200, :29.200
[Cocasa T wiE | 34200 L] 225 | 728,300, B:28.300 3EWT | 25400 | 34% |X:29.200, :29.200, :29.200
[Cocase T wiE | 34200 L] 225 | 728,300, B:28.300 SEWT | 25400 | 34% |X:29.200, %:29.200, :29.200
498 | WiB | 34200 i 22% | 728,300, B:28.300 3HW | 25400 | 34% |:X:29.200, %:29.200, %:29.200




T{EEI511/3/7 EER (8A25~31 BERS)

EEBAA - 2020/07/17 ~
7753
e ' - TR - - TEIIC - TEID
ST 5 am 5 o B
s | EE i il s | FEH i | s | FEH ) s il #I31% il
TR R AE) R |3 | #H [ Ge0] i3 FlH_[sio0] 1% |7 K] 345 | 30500, K0500, 30500 -
[otass | giE | 33so0] iav #B [ 31000] 215 |} KL ] 324 [J:30500, 30500
[otass | giE | 33so0] iav #B [ 31000 215 |} SEE] | 26,100 | 33% [ 30500, K.30500, 30500
[utaar | giE | 33so0] av #B [ 31000] 215 |} SEE] | 26,100 |33 [ :30.500, 30500, 30500
[uraas | giE | 33so0] iav #E [ 31000] 215 |} KL ] 22% | 726,100, 26,100, 26,100, H26.700
a3 | HE [ 3800 1o e[ atooo | ois |7 L] 228 100, %26 700, 26,100, 526,700
TL® [ JLa30 | BH | 33800 1% BTE [ 31000 21 | SEF] | 26,100 |33 | J30500, 30500, 30500
[Jtas2 | giE | 33s00] Tav BTE [ 3000 21 | SEF] | 30500 | _22% | 726.700, 26100, 26,100, H26700
[Jtass | giE | 33s00] Tav BTE [ 31000 21 | SEF] | 26,100 |33 [ 30500, K 30500, 30500
[Jtass | giE | 33s00] Tav BTE [ 3000 [ 21 | SEF] | 26,100 |83 | J:30500, 30500, 30500
[Jtass | giE | 33s00] av BTE [ 31000 [ 21 | :20.700 KL ] 22% |76 100, $26.100, .26 100, HZ6700
420 | §E | 33800 3% BE [ 31000 1% 29700 SEF] | 26,100 |33y [ 30500, K 30500, A:30500, 26,700
ET T TR GRE) % | _JL60s | #lE | 42000 B[ 33000 | 308 7K 35,800, 35800 KEL i} 34% | X33 700, /32100, 32,700, H:28.900 5200, 30,700, E30700. H26000
[JLeor | g | 42000 BTE | 33000 | aow 00, 7K 35,800, 35800 KL ] 344 [ 32,700, 32700 726,000, $:30,700, 30,700, H:26.400
[Cuteos | #iB [ 42000 B8 [ 33000 | 308 734700, 34700 KL ] 3% J31.700, KILI00. K3 27,100, $27.100, £27,100
[Jteri | gie | 42000 BTE | 33000 | ao% 700, 734,700, 34700 KL ] 34% | 31,700, 31700, K 31700 26,000
[JLers | g | 42000 BTE | 33000 | ao% 734700, 34700 KL ] 34% | 31,700, 31100, 31700, F29800 526400
[Jters | g | 42000 BTE | 33000 | ao% 00, K 34700, 34,700 KL ] 344 31,700, 0, 31700, 29800 526400
ER® [ Jeos | EE [ 42000 BTE | 33000 | aow 734700, 34700 KL ] 344 [ 33,500, 33500, 726,000, H25600
[JLeos | g | 42000 BTE | 33000 | ao% 1700, 34,700, 34700 KL ] 345 {433,500, 33500, 33500 726,000, 25,600
[JLeio | g | 42000 BTE | 33000 | ao% 34700, 34700 KEL i} 34% | 33,500, /33500, 33500 726,000 30,700, 30700, H26.400
[Cterz | g | 42000 BTE | 33000 | ao% 00, 7K:34.700. 34700 3EH [ aLi00 | o 0, K 33500, A:33500. HAT 726,400, 131,000, 31,000, H26.400
[CJLera | g | 42000 BTE | 33000 | ao% 34,700, A.34.700 3EH [ aLi00 | o K350, 33500, 726,400 31,000, 31,000, H:26.400
616 | BIE | 42000 BTE | 33000 | aow 700, 734,700, 34,700 3EH [ 3Li00 | o 500, 733,500, 33500 525,600, 131,000, 31,000, 526000 |
TR A TR (PM) % | JL623 | BIE | 39500 BTE | 80100 | 325 | X 32200, 7ki32.200, 32200 KL ] 374 700, 729,700, 29,700
[JLezs | g | 39500 BTE [ 80100 | 325 | X 33200, 7Ki33.200, 33200 KL ] 374 700, 7K:30.700. 30,700
[Jtea7 | g | 39500 BTE [ 80100 | 325 | X 33200, 7Ki33.200, 33200 KL ] 3% 700, 7K:30.700. 30,700
[JLe2s | g | 39500 BTE [ 80100 | 325 | X 32200, 7ki32.200, 32200 KL ] 35% | .20 700, 29,100, 29700
[JLeai | g | 39500 BTE | 80100 | 325 | X 32200, 7Ki32.200, 32200 KL ] 35% | .20 700, 29,700, 29700
[JLeas | g | 39500 BTE | 80100 | 325 | X 32200, 7Ki32.200, 32200 KL ] 374 700, 7K:29.700. 29,700
[Jtear | g | 39500 BTE [ 80100 | 325 | X 32200, 7Ki32.200, 32200 KL ] 378 [ 420700, 29700, 729,700 75100, B25100
639 | B | 39500 BTE [ 80100 | 325 | X 32200, 7ki32.200, 32200 KL ] 35% | 20900, 29900, £29900 | $26.400, B 26800
TAR | J622 | EIE | 39500 BT | 80400 | 325 | X 32200, 7K:32.200, 32200 KL ] 34% | 0,700, 29,100, 29,700, HZ900
[CJLe2a | g | 39500 BT | 30800 | 315 | X 32200, 7Ki32.200, 3200 KL ] 35 A 26000, 26000
[Coe2s T giE | 39500 #E | 30800 ai% 132.200. 7k:32.200. £:32.200 EEL ] 33%
[JLezs | g | 39500 BTE | 80100 | 325 | X 32200, 7Ki32.200, 3200 KL ] 33%_| 395,700, 26,100, 78100, HZ6100 A 75600
[JLeao | g | 39500 BTE | 31.200 | 305 | X 32200, 7ki32.200, 32200 3ER [ 30100 | a2 529500 726,800, 626800
[JLeaz | g | 39500 BTE [ 31.200 | 305 | X 33200, 7Ki33.200, 33200 KL ] 31% | 2:29.800_ 30,100, 30100, H30.100 27,400
[Cutsss | #iB | 30500 BB | 31200 | 305 [ 33200, :38.200, 33200 KL ] 31% [ 329,800, 130,100, 30,100, 530,100 726,800, H26.400
638 | B | 39500 BTE | 30100 | 325 | X 32200, 7Ki32.200, 32200 KL ] 33%_| 728,100, 28,100, 28,700, H26.100 726,800, 26800
ETEEET TR (Pm) % | JL687 | BH | 39100 1oy BTE [ 26700 | 35% X 34100, 7Ki34.100, K34100 KL ] 36% | 31,600, /31,600, 31600, H:26.800
[ees | miE [ 39i00] 2% BTE | 26900 | 35% | X 34100, 7Ki34.100, 34100 KL ] 36% | 31600 31,600, 31600, H:27.300
[Coteor | giE [ 39i00] 2% BT [ 20300 | 345 | X 33100, k33100, 33100 KL ] 36% | .30 600, 30,600, 30600
[tess | giE [ 39100] 2% BTE [ 20300 | 345 | X 33100, 7Ki33.100, 33100 KL ] 36% | .30 600, 30,600, 30600 20100
[tess | giE | 39100] 2% BTE | 20100 | 3a% | X 33100, 7Ki33.100, 33100, H29600 KL ] 36% | .30 700, /30,100, 30700
("7 | miE | 39100] 2% BTE [ 20300 | 345 | 33100, 7Ki33.100, 33100, H29,600 KL ] 36%_[ 430700, 30700
BRE [ Jess | BH [ 39100 1oy B | 33.100 | 25% [ 726900, 530,400, 30,400, 520500 KEL i} 35% | .30 600, 30,600, 30600 H25200
[Jteso | giE [ 39100 2% BTE [ 20900 | 33% | %3100, 7Ki33.100, 33100, H:29500 KL ] 36% | .30 600, 30,600, K.30600
[oess | giE [ 39100] 2% BTE [ 33100 25% |f KL ] 35% | 30,600, 30,600, K-30600
[teea | giE [ 39100 2% BTE [ 33100 25% |f KL ] 31% | 728,900, 29,500, F 29500, H26900
[Jess | giE [ 39100 2% BE [ 34100 23v | SEF] | 31600 | 29% | :29.300, 29500, F:20 500, 629,300
698 | BIH | 39700 2% BE [ 34100 oov SEF] | 31600 | 29 | 729,300, 29500, F:20500, H29.300
FRE)-BRE | RR(AE)E | Jlodl | HH | 41300 12y BTE | 33300 | 0% KL ] 32% | .37 200, /32200 32200
[Jteas | giE | 41300] 2% BTE | 33300 [ 0% KEL ] [P 33200 37 600, K600, A Z2600
[teas | wiE [ 4s00] 2% AT | 33300 | 20% | X 36300, 7Ki36.300, 36300 SEHT 378 [ 733200, K3 200 J:32.600. K 32600, £.32600
[dtear | wiE [ 4s00] 2% AT [ 33300 | 205 | X 35200, 7ki35.200, 35200 SEHT 32% | 32 200 32700, 32200
[deas | wiE [ 4rs00] 2% HTE [ 33300 | 205 | X 35200, 7ki35.200, 35200 SEHT 32% | 32 200, 3200, 32200
[Cocest | giE | 41300 [ 128 #E | 33300 [ 208 135200, 7K35.200, #:35.200 3B 328 [X:32.200, K:3:
[tess | wiE [ 4is00] 2% ATE [ 33300 | 205 | X 35200, 735200, 35200 SEHT 31% |31 800, £31 80 800
[tess | wiE | 41300] 2% ATE [ 33300 | 205 | X 35200, 735200, 35200 SEHT 31% | 731 800, £ 31,500, H.31.800
BRES | JLe0 | HH | 41300 i2% AT [ 33300 | 205 | X 35200, 735200, 35200 SEHT 3 00, K 32,500, A:32.500 31900 31900, A3TI00
[Cotea2 T giE | 41300 [ 128 BB | 33300 [ 208 135200, 7K35.200, #:35.200 3B 3% k3
[deea | giE | 4300 2% ATE [ 33300 | 205 | X 35200, 735200, 35200 SEHT 32% | .32 500, 32501 500 P
[dteas | wiE [ 41300 2% ATE [ 33300 | 205 | X 35200, 735200, 35200 SEHT 375 [ 432,500, 32500, 32500 31,900, 31,900, A.31.900
[dteas | wiE [ 4rs00] 2% ATE [ 33300 | 20% | X 35200, 735200, 35200 SEHT 375 432,500, K325 500 31,900, K 31,900, A.31.900
[teso | wiE [ 4rs00] 2% HTE [ 33300 | 205 | X 36300, 7K:36.300, 36300 SEHT 375 [ J:33.200, K 33200, 33200 .32 600 K 32,600, A.32 600
[tess | wiE [ 4is00] 1o% AT | 33300 | 205 | X 36300, 7Ki36.300, 36300 SEHT TN D 00_ £32900 A31.700_ £31,700, H31.700
654 | WH_| 41300 12% HTE | 33300 | 20% | X 35200, 7Ki35.200, 35200 SEHT 31% | 731,800, 31,800, H31800
ECET PNAG IS 2111 | 3EF | 33400 | 30% 6,400, 7K:26.400. F 35500 3HAT | 31400 | a3% 21,000, 721,000, £:33.500 3EH 79
% | o212 | 3HA | 25600 53w 3HA | 20700 [ 628 |H:22200 3B 82%
A (A% | J02123 | FH | 40400 37700, B32.700 BE [ 37100 o1 [ 35100 | 5% | 74100, $ 37100, 30000, H27500
(2124 | g | 40400 32,700, 634,100 BTE | 20300 | % 27300 | 425 | /3.22.000, $.26.000. 22,000, B 28500
(G5 | JL2151 | FE | 39400 AT [ 37000 316 | JKA36500, H30.100
(L2153 | g | 39400 ATE [ 37000 {36,500 |18 [ 30,100, &+ 630800
[Jt2rs7 [ #iE | 30400 #E | 37,000 318 [ RKA36500
FHR 2152 | §iE [ 30400 ATE [ 37000 30800 | 315 | XKoK36.500, HI0T00
(L2154 | g | 39400 ATE [ 37000 730,100 |_82% [ JKoA:36 500, 630500
2158 |18 | 39400 H15_[ 31,000 I (36500 | 164 | 5%:30800. £:30.100, HITA00
ETZET R (PR % | JL2201 | #1B | 33300 ATE [ 30100 205 |} 21% |7 622900, 23700
0 = T B 0000 o0 |7 1% |5 522000, 25 000, £25500
(92205 [ g | 33300 8| 0100 | 208 |7 21% |7 22900, & 24800
70 = T B 0000 o0 |7 214 |3 5.23.500, 24800, E24400
(2208 [ g | 33300 8| 0100 | 208 |7 {23500 |_38% | JGKA:29,600. 624,100
T = T B 0000 o0 |7 215 | /5.24,000, 26,700, :72.900, HZ5400
[iLz2rs | WiE [ 33300 i [ s0100 | 20 |7 21| 5:24.000. $:26.700. 22900, 525,400
7215 |8 53300 i [ s0100 | 20 |7 21 [ 5:23,300. 25400 22900, 524,100
&% [ J2200 [ @iE [ 33300 WE [ 30100 | 205 | ["22.900 398 Tk AK#:29.600
[[J2202 #iH | 33300 WE [ 30100 | 205 | ["22.900 "398 Tk K#:29.600
[[J2204 T#iH | 33300 WE [ 30100 | 205 | ["23500 388 [ AKA:29.600
[(o2206 | #iH | 33300 WE [ 30100 | 205 | ["23500 388 [k AK#29.600
(2208 | g | 33300 8| 0100 | 208 |7 21% |7 H:22.900, S 73300
[[J22i0#iE 33300 WE [ 30100 | 205 | ["23500 T 38% [k 29,600
o221z | #E | 53300 B 0000 o0 |7 214 |5+ 22000, $26300. H25400
2214 | piB | 33300 ATE [ 30100 [ 205 |} 21% | A 22900, 25800, 523300
BN E ] KR (/)% | Jl2241 | BiE | 31300 WE | 30400 | 5% | [ 25600 | 28% | kKk:29.900
[22a3 T giE | 31.300 WE | 30400 15% | ["25600 | 28% | AKA:29.90¢
[J22a7giE | 31.300 WE [ 29400 | 175 | 31% | & KK:28.900
[Jr2251 T giE | 31.300 WE | 30400 | 158 | [ 25600 T 28% TR AKA:29.900
[[J2240 [ giE | 31.300 WE | 30400 | 15% | ["25.600 288 Tk K#:29.900
[[J22aa [ giE | 31.300 WE | 29400 | 17% 31% | X KK:28.900
[[J2246 | giE | 31.300 WE [ 29400 175 | 31% | X KK:28.900
2250 | §iH | 31.300 WE | 27000 | 2% | 35% | A KAK:27.400
X (FR-EW KR (G % |J2371 | M8 | 28,000 BE | 24500 23% | 38% | RKA24.000
[CoLzs7s [ AiE [ 28000 WiE | 24500 23% [ 384 | KKA:24.000
[[o2375 | #iE | 28000 WiH | 24500 | 234 |} 38% | KKA24,000
[o2s7 | #iE | 28000 WiH | 24500 | 234 |} 38% | KKA24,000
EER [Cor2372 | #i8 | 28000 WiH | 24500 | 23% |} 38% | JOKA:24000
[[ot2s7a | wiE | 28000 WiH | 24500 | 234 |} 38% | KKA24,000
[[ot2s76 | #iE | 28000 WiH | 24500 | 234 |} 388 | KKA24,000
2378 | #iH | 28000 WiH | 24500 | 234 |J 388 | KKA24.000
SR TS R (GA % | JL2383 | FE | 25300 B | 20600 | 30% (15400 |75
[[ot2sss | wiE | 25300 WiE | 20600 | 30% | 15400 | a7%
[Cotsesi | #iE | 25300 WiE | 20600 | 30% 408
2360 | WH | 25300 WH | 20600 | 308 [ 15400 | 47%
AR |[J2382 | giE [ 25300 B | 20600 | 304 (15,400 |75
[(otssso | #iE | 25300 WiE | 20600 | 30% 408
2366 | WH | 25300 WE | 20600 | 308 [ 15400 | 47
2302 | WH | 25300 WH | 20600 30% WE_| 15400 47%
KR (G -2 KR (/% | JL2431 | MB | 25800 WiE | 25300 200 EET ] 27% 24800
(2433 [ g | 25800 WE [ 25300 1200 KEL ] T5% | 521300, % F24100, H21700
(2437 | g | 25800 WE [ 25300 1200 KEL ] 15% | 521,300 24,100, 522,000
(o325 [ g | 25800 WE [ 25300 1200 KEL ] 15% | B 21300, $24.100, B23.400
(o241 | WiE [ 25800 §1E ] 25300 1200 K1 15| 521,300, 24,100, 523400
["2483 [ g | 25800 WE [ 25300 1200 KEL ] 15% | A F 21300, 24,100, H23.400
(2430 | g | 25800 WE [ 25300 1200 KEL ] 27% | JKA:24800, 22900
[[o2as2 wiE | 25800 WiE | 25300 1200 EEL ] 278 [ RAKA24800
[CC2a3a | g | 25800 WE [ 25300 1200 KEL ] T5% | 521300, % £22100, 522900
(2438 [ g | 25800 WE [ 25300 1200 KEL ] 15% | 521,300, .22 900 22,100, H23200
[CoCs926 | g | 25800 WE [ 25300 1200 KEL ] 15% | 521,300, :22 900, 21800, H23.200
2042 | jiB | 25800 W18 | 26300 [ 18% [FB24200 KEL] 15% | 521,300, $:24.100. £21.700, H23.400
AR (PR -BRE KR (/% | JL2401 | #iB | 28,900 WiE | 24100 [ 274 Lil:] 528
[[Jt2a0s [ #iE | 28900 WiE | 22400 | 32% | @ F 25500 Lil:] 52%
[[o2a07 wiE | 28900 WiE | 22400 | 324 |&F 25500 Lil:] 52%
[[ot2a09 [ #iE | 28900 WiE | 24100 [ 27% Lil:] 52%
[[o2ari T wiE | 28900 WiE | 24100 [ 274 Lil:] 52%
[[J2ars [ wiE | 28900 WiE | 24100 [ 274 Lil:] 52%
[Jt2ato [ wiE | 28900 WiE | 24100 [ 274 Lil:] 52%
WRE% | JL2400 | BiE | 28900 W8 | 24100 [ 27% HE 5%
[[ot2a02 wiE | 28900 WiE | 24100 [ 274 Lil:] 52%
[[ot2a04 TwiE | 28900 WiE | 22400 | 32% |&F 25500 Lil:] 52%
[[ot2a06 | #iH | 28900 WiE | 22400 | 324 |&F 25500 Lil:] 52%
[[o2aiowiE | 28900 WiE | 24100 [ 27% Lil:] 52%
[[o2arz [ wiE | 28900 WiE | 24100 [ 274 Lil:] 52%
2414 | FiH | 28900 _ WiE | 24100 [ 274 Lil 52%
[BER (P8 TR (W T8 2&E(PE)%E | 3103 | ME | 40300 38,300, B.38.300 WiE | 32500 | 28% | 325400, F:33200, B:28200 EET ] 29% | 75:22.400, 825300
[Cotsros [ #iH | 40300 138,300, B.38.300 WiE | 32600 | 28% |:25500, F:33,300, B:28.300 EEL ] 28% | 722,500, B:25400
[Cotsro7 [ #iH | 35400 | 22% | 528200, B:31.100 WiE | 32600 | 28% 525500, . B:28.300 EEL ] 28% | 722,500, B:25
37| #IH | 35400 | 22% |F:23400, B 26300 WiE | 22400 | 505 |3:21,000, $:23500, £:25000, B 23900 SEA | 21400 | 53% |:19.600, $:22500_ E 24,000, H:22.400
TR WA % | JL3100 | WTH | 35400 | 225 | 725100, 826600 WE | 24,700 | 45% |/:19.900, 26200, F 26200, 524,400 KEL ] 49% | 718,100, 24,400, F 24,400, 522600
[Cotsros | #iH | 35400 | 22% |5:26000, B 27,500 WiE | 32600 | 28% [3:23500, £:33,300, B:25.100 SEA | 24100 | 478 |7:22.200, $:25600, F:25600, H:23.700
3116 | WH | 40300 | 11% | 738300, 838300 WE | 35700 | 224 KEL ] 27% | 34,900 K 34900, £.34.900
(03118 | #H | 40300 | 11% /938300, 538300 5| 38400 | 15% | 35700 £ 35700, H35700 SEY] | 33,900 | 5% | J37.400, 37400, A:37.400
REE(PE)-Iss | ZEME(DES| JL3131 | 3BF | 23800 | 408 [k22:800, 20,000 SBR[ 14500 [ 69% [X:12500 3EW | 115500 | 75% 9,500
WFEE | ICats2 | sEfy 22800 |1k [ .35000 S 14500 | o 35w 100 ] o
REM(FE) WL | A5 (Ha e[ JU3303 | 3Bf | 23300 | 49% [7K20,300, %:17.300, B:20400 SEf | 12500 738 3EAT | 9500 | 79%
#[% | JI3304 | 384 | 27400 | 40% |$:23300, B:33,500 SEf | 12500 738 3EAT | 9500 | 79%
FUR (TR IKE | AL (3 T4 % | JL2821 | WGE | 26300 14% WiE | 25300 | 18% |3 824000 3B 33%
[[ot2827 | wiH | 26300 [ 4% WiE | 25300 [ 8% | BB 24000 EEL ] 33%
HER [CoC2822 | WE | 26300 | 12% WiE | 24300 | 21% |4 823000 3B 36%
[Tot2828 | wiH | 26300 [ 4% W8 | 25300 [ 8% 524,000 EEL ] 33%
R TR -8 FRR [ o271 | M8 | 27600 | 2% WiE | 27400 | 25% 3B 25%
2877 | WE | 27600 [ 24% WE | 27500 [ 24% 3BT 254
FLOR (W) % | J2872 | MiE | 27600 | 24% WiE | 27,500 | 24% 3B 25%
2876 | WE | 27600 [ 24% WE | 27500 [ 24% EL=Ti] 284 [ JOKA 27400
R TR e Wax [“JC2001 | #E | 30500 | 13% WiE | 26500 | 24% 3B 31%
[T2503 | fiiE | 30500 3% B | 25200 | 8% | 24800, H24300 Y] 334 | 723200. H22600
[Cot2005 | #H | 30500 [ 13% W8 | 26200 [ 26% EEL ] 32%
[Tt2507 | fiE | 30500 3% §E | 27200 | 2% |A24700. 526300 SEY | 25500 |27 | 23000, H24600
2009 | JiH | 30500 | 1% 8 | 25200 | 8% | 722700, 624300 Y] 33%_| 721,000, 522,600
TR WA % | JL2900 | §H | 30500 | 1% B | 24,700 | 9% |7:19800, 623500 KET i} 34% | 7:18.200. 622200
[[3t2002 | #H | 30500 [ 13% W8 | 26200 [ 26% EEL ] 328 [#H:24300
[Cot2s04 | #H | 30500 [ 13% WiE | 26200 25% | EEL ] 328 [$H:24300
[Tot206 | fiE | 30500 3% B | 25200 | 8% | 24500, H24300 Y] 33%_| 723,200, 22600
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["JC2053 600 | 20900 600 | 20,900
L2061 600 | 20,500 600 | 20,800
TmE | JL2050 600 | 20900 600 | 20,900
["JL2058 600 | 20,500 600 | 20,900
L2060 600 | 2 | 20.900 600 20.900
KR (B =4 (BRE) | KBR(FFAHF [ JL2081 500 | 3 | 34.300 900 | 34300
["Jr2085 700 27.500 I
["JL2087 500 F3 [
4 (IRER) # | JL2084 400 | ¢ [
["JL2086 800 | 3
2083 400 | 3
R GTR HEE |13 000 | s
L3515 400 | 4 3
TR B B [ L3510 000 [ s
3512 400 | 3 3
EECEE RR(FE) R |_JLos 800 | 3 s
587 800 | 3 3
589 7800 | 3 3
WRER | JL58d 7800 | 2 2
L586 7800 | 3 3
L588 5] 7800 | 3
TR CHE) - TR CRE) % |_JL2a1 Eil 400 | 2 i T
1233 400 | 7 17, 1
1237 400 | 2 18 i 15
L: 600 | 1 15, 1 15,
L 600 | 1 15 i 15
TS L s00 | 18500 [ 1o [ 18800 18
L 600 | 1 14 i 14
L: 600 | 1 12 1 12,
L 600 | 1 1. i 14
L 600 | [1a. i 12,
TR CHE) -8 TR CAE % |_JL258 00 | 20 T s
[—JL255 800 | 24 [ 20,
U257 800 | 24 [ 20
[—JL259 800 22 [ 20,
261 600 | 2 [ 20
[JC263 00 20, [ 20,
[JL265 100 20 [ 20
(267 00 20, [ 20,
mEE |22 100 e 22600 [ 15
[JC254 00 20, [ 20,
[JL256 100 20 [ 20
[JL258 00 [_20. [ [_20.
260 100 [ 2. [ [ 2.
(262 00 204 [ 20,
[Ji26a 100 20 [
266 00 [
FR (AE)-IUOTH | Rm(RE) % | J201 200 |
[JL203 200 |
[JC295 200 |
207 200 |
OS85 | _JL200 200 |
L2002 200 |
[Jr204 200 |
1296 200 |
RECAE)=HE RE(CHA) &% L277 600 [ ¢ [
[JL279 600 | -
[Jr283 600 | 600 | [
[JL2ss 600 | 2 I 600 |2 I
1287 600 | 2 [ 600 | 2 [
EEE] 276 600 | I 600 | I
[CJL278 600 | 2 [ 600 | 2 [
[—JL280 600 | 3 I 600 | 3 3
[Jr28a 600 | 3 [ 600 | 3 3
286 600 | I 600 | [
EACE L] R (P@) % | _JL453 300 |2 [ 300 | [
[JLass 300 | 2 I 300 | 2 I
[Jr459 300 | 2 [ 300 | 2 [
[JLast 300 | 2 I 300 | 2 I
[Jr463 300 | 2 [ 300 | 2 [
L465 300 | 2 I 300 | 2 I
BERE | Jus2 300 | I 300 | I
[JLasa 300 | 2 I 300 | 2 I
[JLas6 300 | - 300 | I
[460 300 | 2 I 300 | 2 I
[uLa62 300 | - 300 | I
264 300 | 27 300 | [ 2
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. o 8/8 8/9 8/10
= g [T A W) 0 C| BRI O TE7 B BRI O BRI | e A S B e O EEs7 0| ey A BEs 7 B BT O BT
i | s | s o | s | EH WRE | ERE | SRS | R | ERE | ERE | ERE | ERE | GRS | ERE
TRPE) AR | AR R | JATs 700 700 I
L477 700 700 | 2
L479 700 700 | 2
[JL4st 700 700 | 2
[JL4s3 00 700 [ 2 [ 2
[JLass 700 700 [ [
L487 00 700 [ 2 [ 2
] 474 700 700 [ [
L476 00 700 [ 2 [ 2
[JL478 700 700 [ [
[JL480 00 700 [ 2 [ 2
[JL4s2 700 700 [ 2
[JLdsa 00 700 [ 2 [ 2
1486 700 | 700 | [ | [
TR CRE) BA | TR (AE R | _JLdel 000 [ 000 [ [ I I
[JL403 000 | 000 | [ | —
[JL495 000 [ 000 | 2 [ 2 [ —
[JLao7 000 | 000 | [ | —
L499 000 [ 000 | 2 [ 2 [ —
e [ JL490 000 | 2 000 | 2 [ 2 [ 2 [ 2
[JL492 000 [ 000 | 2 [ 2 [ —
1494 000 | 000 | [ | —
[JL496 000 [ 000 | 2 [ 2 [ —
1498 000 | 000 | [ | —
WRHE) AL | BR(HE) % | JL30 500 [ 500 | 2 = [ [
1433 500 | 500 | 2 [ | —
L435 500 [ 500 | [ [ [
437 500 | 500 | 2 [ | —
1439 500 [ 500 | [ [ [
1443 500 | 500 | 2 [ | —
EATES [_JL430 500 [ 500 [ 2 [ 2 [ [ 2
U432 500 | 500 | 2 [ | —
[JL43da 500 [ 500 | [ [ [
[ JL436 500 | 500 | 2 [ | —
L43¢ 500 [ 500 | [ [
L44 500 500 | - —
TR CRE) AN | TR (RE % | L 800 300 T
L. .800 100
L 800 00
L. 100
EZXE L 0 20700 | ¢ I
L 100 2.700 [
L 00 [ 28.700 [
L 00 24700 2 [
HRAE)-R% R (AE) 5 | JL 200 [ 4 4 4 I
200
[JLe65 200 [ 3 4 4 4 [ 3
[—JL667 200 3 4 4 4 3
[JL669 200 [3 4 4 4 [ 3
671 200 3 4 4 4 [ 3
Tk [ JLe6z 200 s [ [ [ s
[ JL664 200 | 3 [ 4 [ 4 [ 4 [ 3
[ JL668 200 | 3 [ 4 [ 4 [ 4 | 3
L670 200 3 4 4 4 3
L672 200 [ 3 4 4 4 [ 3
L674 200 3 4 4 4 3
HER(CRE)=RH HER(CAA)F [ _JL605 900 | ¢ L3 { 4 4 { 4 |3
[_JL607 900 | 3 | 3 [ 4 [ 4 [ 4 [ 3
[ JL609 900 | 3 | 3 [ 4 [ 4 [ 4 | 3
L611 900 | 3 | 3 [ 4 [ 4 [ 4 [ 3
L613 900 | 4 | 3 [ 4 [ 4 [ 4 | 3
L615 900 | 4 | 3 [ 4 [ 4 [ 4 [ 3
RS [ JL606 900 | 3 [ 4 [ 4 [ 4 | 3
[_JL608 900 | 3 [ 4 [ 4 [ 4 [ 3
610 900 | 3 [ 4 [ 4 [ 4 | 3
L612 900 | 3 | 3 [ 4 [ 4 [ 4 [ 3
L614 900 | 3 | 3 [ 4 [ 4 [ 4 | 3
L616 900 | 3 | 3 [ 4 [ 4 [ 4 | 3
ER(CRE HER(CAAE)F [ JL623 400 | 3 L3 4 | 4 | 4 |3
[_JL625 400 | 3 | 3 [ 4 [ 4 [ 4 E
[ JL627 400 | 3 | 3 [ 4 [ 4 [ 4 | 3
[_JL629 400 | 3 | 3 [ 4 [ 4 [ 4
L631 400 | 3 | 3 [ 4 [ 4 [ 4 | 3
L633 400 | 3 | 3 [ 4 [ 4 [ 4 K
L637 400 | 3 | 3 | 4 [ 4 [ 4 | 3
L639 400 | 3 [ 3 [ 4 [ 4 [ 4 [ 3
BEAR S [ JL622 400 | 3 | 3 [ 4 [ 4 [ 4 | 3
[_JL624 400 | 3 | 3 [ 4 [ 4 [ 4 [ 3
[ JL626 400 | 3 | 3 [ 4 [ 4 [ 4 | 3
628 400 | 3 3 4 4 4 [ 3
[JL630 400 | 3 500 | 3 4 4 4 [ 3
632 400 | 3 500 | 3 4 4 4 3
634 400 | 3 400 | 3 4 4 4 [ 3
638 400 | 3 300 | 3 4 4 4 3
R (AE)-EE R (PE) % |_JL687 400 | 3 200 | 3 2 2 2 I
[ JL689 400 | 3 200 | 3 4 4 4
L6971 400 | 3 400 | 3 [ 2 [ 2 4
[ JL693 400 | 3 400 | 3 4 4 4
[JL695 400 | 3 700 | 3 4 4 4 [ 3
697 400 | 3 700 | 3 4 4 4 K [ 3
EH% | _JLoss 400 | 33,800 100 4 4 4 [ [ 3
[_JL690 400 | 3 100 | 3 [ 4 [ 4 [ 3 [ 4 | 3 [ 3
[ JL692 400 | 3 400 | 3 [ 4 [ 4 | 3 [ 4 | 3 | 3
L694 400 | 3 400 | 3 [ 4 [ 4 [ 3 [ 4 | 3 [ 3
[ JL696 400 | 34,100 400 | 3 [ 4 [ 4 | 3 [ 4 | 3 | 3
L698 400 | 3 400 | 31100 | 4 [ 4 [ 3 [ 4 | 3 [ 3
HR(PE)=-ERS HRCAR) & L .900 | 3 500 | 3 4 4 L3 4 L3 |3
L 900 | 3 500 | 3 [ 4 [ 4 [ 3 [ 4 [ [ 3
L 900 | 3 900 | 3 [ 4 [ 4 | 3 [ 4 | 3
L 900 | 3 500 | 3 [ 4 [ 4 [ 3 [ 4 [ [ 3
L 900 | 3 500 | 3 [ 4 [ 4 | 3 [ 4 I | 3
[ JLS 900 | 3 700 | 3 [ 4 [ 4 [ 3 [ 4 | K
[ JL653 900 | 4 400 | 3 [ 4 [ 4 | 3 [ 4 | 3 | 3
L655 900 | 4 400 | 3 [ 4 [ 4 [ 3 [ 4 | K
BERER L 900 | 3 600 | 3 [ 4 [ 4 | 3 | 4 |3 |3
L 900 | 3 100 | 2 [ 4 [ 4 | 2 [ 4 | 2
L 900 | 3 600 | 3 [ 4 [ 4 | 3 [ 4 | 3 | 3
L 900 | 3 600 | 3 [ 4 [ 4 | 3 [ 4 | 3 [ 3
[ J 900 | 3 100 | 2 | 4 [ 4 | 2 [ 4 | 2 | 2
[ JL650 900 | 3 600 | 3 [ 4 [ 4 K [ 4 | 3 [ 3
L652 900 | 3 100 | 3 | 4 [ 4 | 3 [ 4 | 3 | 3
54 900 | 3 600 | 3 [ 4 [ 4 | 3 [ 4 | 3 | 3
KR (G =k@Al | _KBE (FPh % | JL210t 900 | 3 900 [ 4 4 4
Al L2102 900 | 900 [ 3 [ 3 I
EX A Kl (B % | JL: 800 600 4 X [
FEITI] L. =] 600 500 [ 3 600 | 2
KR (A -mfE ENAGIE N I i 500 600 I 800 |
BRIfiE: L 200 .400 | 2 J00 | 2
FREHFH | AR [ 400 500 [« 400 T
L 400 500 4 400 | 3
L: 400 500 [ 3 400 | 3
B L 400 500 [ 3 400 | 3
L: 400 500 [ 3 400 | 3
L 400 500 3 400 | 3
FREMRE | ARG R [ 400 600 [ 400
L: 400 600 | 3 7.400
L 7,400 ,600 7,400
BB L 7.400 600 7.400
L 7,400 ,600 7,400
L 7.400 600 [ 3 7400 | 3
FREMME | ARG R [ 220 500 400 [ 900 [
[ _JL2203 900 400 | 3 900 | 3
[ JL2205 900 400 | 3 900 | 3
[ _JL2207 900 400 | 3 900 | 3
[ JL2209 900 400 | 3 900 | 3
2211 900 400 | 3 900 | 3
L2213 900 400 |3 900 | 3
2215 900 400 | 3 900 | 3
W&E%E | JL2200 1900 200 3 900 | 3
L2202 900 400 [ 3 900 | 3
[(JC2204 900 400 3 900 | 3
["JL2206 900 400 [ 3 900 | 3
["JC2208 900 400 3 900 | 3
1221 900 400 [ 3 900 | 3
1221 900 400 3 900 | 3
1221 900 400 [ 3 900 | 3
KR (G % | JL224 800 400 3 800 | 3
224 800 400 [ 3 800 | 3
[(Jr22 800 400 3 800 | 3
2251 800 400 | 3 800 | 3
F L2240 ,800 400 | 3 800 | 3
L2244 800 400 | 3 800 | 3
[(JC2226 800 400 3 800 | 3
2250 800 400 | 3 800 | 3
FREA L | ARG R [ 2900 700 300 i 700
["JL2305 700 1 700
12309 700 1 700
Tali% | JL2302 700 1 700
[(JC2306 700 1 700
2310 700 1 [ 18 700
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878 879 8710
&7 B[ E7 C[ BE{7D| FEI(T A 547 B[ FE57 C[ HE5{7 0| FHEI(7 Al F5E4{7 B[ F5{E57 C[ HE5{7D|

HESTA| $E57 B[ $E57 C| #EI7D]

X B2

BEITA
WEEE

T | om | e | e WA | ERE | ERE | @R | ERE | ERE | AR: | SRE | ERe | SR | and

| A | A | 1A | BASE

KR (=K% KR () 5 2300 19.700 21.300 19.700

.300 20,700

RD% J

KB () =Ry KR () 5

S

KR () 5

AR (-

KR () =58 KR () 5

S|
S|

KR (P -=ERE RER (AR | L

ERBR

B (P ED) =AU (5 T /| & A (PE) %

AR GRF ) %
AHE(PEH)=HIEE [ RER (b 36
FIEED 3H [ [
EEE (P =BE | AEE () 38 2: 25500 [ s
ETR 3H L [ 12500 - [ 15500 [ 15,500
ARFFR) - | HLREGTRR kil 000 | 22,000 | 23 [ 22.000 [ 22,000
000 [ 23.200 [ 23 22,000 [ 22.000
000 [ 23.200 22 22000 [—22.000
wAr | 000 [ 22.000 [ 23 22,000 [ 22.000
[ 000 [—22.000 [ 23 22000 [ 22.000
000 [ 23.200 [ 22 [ 22,000 [ 22.000
A B TR -E | AL B TR 5 600 [25.400 |26 [ 25.400 25.400
7,600 [ 25.400 [ 25 [25.400 25,400
HE R 7.600 [—25.400 25 [25.400 25400
7,600 [ 25.400 [ 25 [25.400 25400
HAMEFTFR)-#R R 7.600 |_27.400 | 27. [ 27.200 [ 27.200
7,600 [ 27.400 [ 21 27200
HIRETFR) 7.600 [27.400 27 27200
7,600 [ 27.400 [ 27 27.200
IR GRTFR)=LE =S 900 [30.000 |30,
[ 900 [ 30,000 [ 30
[ 900 [ 29.400 29
[ 900 [ 30,500 [ 31
900 [ 30,600 [ 31
ENE = S I 900 [ 26200 [0
[ 900 [ 25.400 29
[ 900 [ 25.400 [ 29
[ 900 [ 26.000 30
900 [ 26,000 [ 30
AR TR -8 LEF 300 3 R
HIR (S T8) % 300 |34
RE-EH AR 000 20
J 000 [ 20
[ 000 |20
J 000 [ 20
[ 000 |20
000 [ 20
000 |20
BAR | J 000 [20
[ 000 |20
[ 000 [ 20
[ 000 |20
J 000 [ 20
000 |20
000 20800
BERE-EEZXE ERBR .900
.900
.900
400
[ 400
J .900
.90
BEABR .900
[ 900
[ .900
[ .900
,000
[ ,000
900
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o o o o 8/11 /12 13 8/14
= g LT A BB BT O R Dl s Al | AT O BT O] BRI A B O B O] A7 A 57 8 5 O[3y o B A7 A 7 8| BEE7 G B EA7D
| BA4 | ER@ | ER@ | @%@ | S mA | BAW | @AW | @AW | @ ; ; ERE | mns
W CHE) =AW (T m)| RECHE) % | J 100 28400 100 28400 100 | 32800 | 20 27400
[ J .100 28.400 .100 28.400 00 32,800 | 29 27.400
[ J 100 28.900 100 28.900 00 | 32800 | 29. 29.500
L — 100 28.900 100 28.900 100 | 32800 | 29 29500
100 28.900 100 28.900 100 | 32.800 | 29. 29.500
.100 28.900 .100 28.900 100 | 32800 | 29. 29.500
100 28,900 100 28,900 100 | 32,600 | 20! 20,500
.100 28.900 .100 28.900 100 | 32800 | 29 28.100
100 28400 | — 100 28.400 100 | 32800 | 29 28.100
.100 28.400 - A 28.400 100 | 32800 | 29 28.100
100 27,600 100 | 32.300 | 29 20,000
[y 100 27.600 100 | 32300 | 29 29000
[ 100 26,800 100 | 32,800 | 29 20,500
L 100 26000 100 | 32.300 | 20 29500
3 100 [ 24400 100 | 30700 | 2 20,500
100 [24.200 100 | 30700 |27
100 [ 23600 100 | 29900
FLOR (3 F %) 6 |_JL! 100 | 31400 — 100 | 32200 | 31
3 100 [ 3r900 100 | 32200 | 31
100 [31.400 100 | 32000 |31
3 100 [ 29800 100 | 32.200 | 31 ot
100 29,000 100 | 32200 |31 a1,
100 29000 100 |3 K 200 |31
100 29,800 100 | 3 I 200 | 3t
100 [ 30600 100 | 3 K 200 | 31
100 [ 31.100 100 | 3 a1 200 | 3t
100 [ari00 | — 100 | 3 K 200 | 31
[y 100 [31.400 100 | 3 T 200 | 31,
[ 100 [atd00 100 | 3 K 200
100 [31.400 100 | 3 T
3 100 [ 29800 100 |3 K
L 100 29,000 — 100 | 3 T
3 100 29000 100 | 3 K
100 29,000 100 | 3 T
TRPERE | RRGEE [ 100 27400 400 | 53400 |t 400
[ 200 27400 200 | 3 3t 400
[ 400 [—29.400 400 | 3 a2 400
400 [29.400 200 32 400
400 [—29.400 400 32 400
400 [29.400 200 32 400
400 [ 29.400 400 3. 500
200 [31.400 200 I 400
200 [ 31400 200 3t 400
1 200 [31.400 200 I 400
L323 200 [ 31400 200 [ 3t 400
[JL325 200 [ 31.400 200 T 400
[JL327 .400 26.100 .400 26. 100
[JL329 200 [31.400 200 3. 400
L331 200 [ 31400 200 I 400
[JL333 200 [ 31.400 200 3. 400
L335 .400 .400 31 400
BEE  |[_JL300 200 200 26. 100
[JL302 200 | 200 26. 100
304 400 | 2 .400 26. 100
[JL306 200 | 200 26. 500
308 400 | 2 .400 26. 500
L 400 | 2 .400 26. 500
L 400 | 2 .400 26, 500
L 400 | 2 .400 26. 500
L 400 | 2 .400 26. 500
400 | 2 .400 26. 500
[ JL320 .400 .400 27, 100
[Cua22 200 | 200 271 100
324 .400 .400 7. 100
[JLa26 200 | 200 )71 100
[_JL328 400 | 2 .400 7. 100
U330 200 | 200 26. 500
332 200 | 2 200 2. 100
TR FRGEE [0 000 |4 000 _ 000 |
[_JL903 .000 .000 100
[ JLe05 000 000 4 100
[Jre07 000 000 4 100
L909 .000 .000 | 4 000
3 000 000 4 000 | 42.900
L915 .500 .500 | 3 800 32.400
7 .500 .500 | 3 800 32400
L919 .500 .500 2 800 26.800
L921 .600 .600 000 .
.500 .500 800
.500 .500 800
,400 400 800
.400 .400 800
,400 400 800
.400 .400 800
500 .500 | 3 600
L 600 600 100 | 4t
L 600 1900 | 43.100 | 4 100 | 42
L 600 500 ; 100 | 42
L 600 900 100 | 42
L 600 500 100 | 42
[ JLo2 500 500 000 | a1
L922 .500 .500 600 | 40
KIR (RFH=#L0R (37 F )| AR (FFH% [ JL2001 100 100 200 | 40,
[JL2003 100 100 |40
["JC2005 100 100 2o,
[JL2007 100 100 39
["JC2009 300 300 22
L2019 100 100 24
FLOR (3 F#%) % [ _JL2000 ,000 .000 [ 30,
[JL2004 800 000 37
["JC2006 500 000 38
[JL2008 800 100 37
L2010 100 100 4.
L2016 100 .100 41,
X B BT X% [JL2500 100 100
[ JL2503 .000 .000
L2505 ,000 ,000
TR (BT ) 5 |_JL2502 500 500
[ JL2504 500 900
L2506 B 700 .600
RRFM-RE | KB [J0s! i 500 500
[ JL2053 .600 .600
L2061 ,600 ,600
BEE | JL2050 600 600
[ JL2058 ,600 ,600
L2060 .600 .600
P AInE R B % [JL2081 700 700
[_JL2085 .400 .400
L2087 600 600 24
ToH () 5 |_JL2084 500 500 30
["JC2086 700 700 34
L2088 500 500 [
AR TR EE I W 300 ] o 500 7
L 800 800 [ 14600 000 14
TR T TR B | L 800 800 [ 17.600 400 8.
.300 .300 | 34,000 .000 | _36.
TRPEEE | BRI E [ 100 400 31100 00 .
L: 200 200 [ 31.700 200 [ 3t
L: 200 400 [ 31.700 400 T
EEE] N 400 400 [ 31700 400 33
L: 200 200 [ 32700 200 33
L: 200 200 [ 32700 200 33
RROIE-EE | FRAEE [_JLsss 800 500 0500 800 0
[JL587 7,800 7,800 30600 7,800 30,
L589 7,800 7,800 [ 30,300 7,800 I
TR L584 7,800 7,800 27,000 7,800 29,
L586 — 7,800 7,800 [ 30700 7,800 30
588 8 7800 7800 30300 800 30
HRCHE) =R RRCHE) & [_JL231 AL 600 600 | 14300 600 | 14,
233 il 600 600 [ 12300 600 i
[ot237 il — 600 600 [ 14.300 600 14
123 Al 600 600 [ 12300 600 i
L24 il 600 600 [ 14.300 600 14
EIES 123 Al 600 600 [ 12300 600 i
[uL2s il 600 600 [ 14.300 600 14
123 Al — 500 600 [ 12300 [ 500 i
L24 il — 600 600 [ 14.300 — 500 14
Loa: BT — 600 600 [ 14300 — 600 1.
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N o o o 8/11 8/12 8/13 8/14
= gy LTI A| BRI B BRSO BRI Dl 1 A S5 B A7 O B O T Al A7 6] 557 O] A b By A 37 6] 5 O ity b A7 A B 7 | B G B EA7D
¥ EAEm | GA@m | GA@ | BAS | BES | BAE | AW | BAW | BAW | BAE | GAE | GA@ | SAE | GAS@ | BAS | SRS
R CHE) - FEAE) R | 253 79300 X 79300 73100 | 72600 |_19:300 7 18300
[ JL255 20.800 . 20.800 22,600 20.800 23, 20.800
[ JL257 . 20.800 . 20.800 22.600 20.800 23, 20.800
[ JL259 A 20.800 A 20.800 22,600 20.800 23, 20.800
[ JL261 . 20.800 . 20.800 22.600 20.800 23. 20.800
[ JL263 A 20.800 A . 20.800 22,600 20.800 23, 20.800
[JL265 . 20.800 . 20.800 20.800 23. 20.800
L267 A 20.800 A 20.800 20.800 23, 20.800
kS [ JL252 . 18.500 . 18.500 18.500 23. 20.400
[ JL254 A 20.400 A 20.400 20.400 23, 20.400
[JL256 . 20.400 . 20.400 20.400 23. 20.400
[JL258 A 20.400 A 20.400 20.400 23, 20.400
[ JL260 . 20.400 . 20.400 20.400
[ JL262 A 20.400 20.400
[ JL264 . 20.600 20.600
L266 A 20.800 20.80(
R (HE)-WOTH | R (AE) % | _JL2ol 23
L2903 24,
[JL205 2%,
L297 25
wOF#sE | _JL290
U292
[JL204
L296
FRPEEE | RRGERE | 38
[CuL279 38
[oL283 38 —
[Ji285 38 i L
L287 38 27100 27100
HER 276 38 [ 27.100 [ 27.100
[Tor278 38 27100 27100
[Ji280 38 29,500 29,500
o284 38 [ 295500 [ 295500
286 38 29,500 29,500
EECRE L) R R % |_JL453 38 [—27.700 27700
RES 38 27700 27700 —
[ToLase 38 21700 27700
461 38 27700 27700
[TLa63 38 21700 [ 27700
465 38 27700 27700
BRBRE |52 38 [ 27700 21700
[uLase 27700 27700
[ JLas6 27700 27700
[—uL260 27700 2700
L462 27700 27700
L464 8 27700 27700
EEEE RRGIE R [ Wil il 24400 2400
La77 [ 24400 [ 24400
L479 [ 24.400 [ 24.400
L281 [ 24400 [ 24400
[Trass [ 24.400 [ 24400
NES [ 24400 [ 24400
Las7 [ 24.400 [—24.400
I 474 [ 24400 [ 24400
La76 [ 24.400 [—24.400
[CuLazs [ 24400 [ 24400
[Toraso [ 24.400 [—24.400
[uLas2 [ 24400 [ 24400
[oLasa [ 24.400 [ 24400
L486 [ 24400 [ 24400
TR CHE) TRAE)® | Lol [—27.900 [—27.900
[uLa93 [ 27.900 [ 27.900
[—JLags [—27.900 [ 27.900
497 | _27.900 | _27.900
[499 [—27.900 [ 27.900
BAE | _JLa90 [ 27.900 [ 27.900
[uras2 [—27.900 [ 27.900
494 | _27.900 | _27.900
[—JLa96 [—27.900 [ 27.900
498 | _27.900 | _27.900
TR Ol | RRCRE)R [t 28500 28.500
L435
7
L439
L443
R[4
[uLa3z
[Jr43s
[uLa36
L438
440 3
TRAE %7 | RRGIEE | ool 500 I
[JL663 700 | 4 4
[ JL665 500 |4 4
[JLe67 300 | 4
L669 500 | 4 4
671 500 | 4 0 | 4
X%k | JL662 400 |2 4
664 300 | 4 4
[—JLe6s 400 | 2 400 | 4
670 400 | 4 400 | 4
L672 000 |4 000 | 4
674 000 | 4 000 | 4
TR CAE) KB | RRCHEN% | JL6lb 500 | ¢ 400 [ 4
[Jre07 500 | 4 400 | 4
[ JLe09 000 |4 200 | 2
611 000 | 4 400 | 4
L613 500 | 4 700 | 4
615 500 | 4 700 | 4
EB® | _JL606 000 |4 000 | 4
608 000 | 4 000 | 4
L 000 |4 3000 | 4
L 000 | 4 3.000 | 4
L 500 | 4 0 | 4
L 000 | 4 4
ETET) TRGAE % | ez 700 I
[JL625 700 | 4 4
[uL627 100 | 4 4
[JL629 100 4
[uLe3t 100 | 4 4
[JL633 100 | 4 4
L637 300 |4 4
639 500 | 4 4
AR | U622 [ 32.100 | 4 4
624 100
[JL626 100 | 4 4
[“JL628 500 | 4 2
[JL630 400 | 4 4
632 400 | 4 4
[JLe3d 300 |4 4
638 200 | 4 4
TR AR A6 | RRCHE % |68l 500 | [
[“JL689 100 | 4 4
[JLeot 300 | 4 4
[JL693 100 | 4 4
[ JL695 400 | 4 4
697 400 | 4 4
EERE | _JL6ss 000 |4 4
[—JL690 000 | 4 4
[JLe92 300 | 4 4
604 300 | 4 4
[ JL696 300 | 4 4
698 300 | 4 4
TRAE)-BRE | TR (@R [ Lol 500 |4 s
L6243 500 | 4
L645 900 | 4 4
L647 900 | 4
["JLeag 500 | 4 4
[JLes1 700 | 4
[JLe53 200 | 4 4
L655 200 | 4
ERER | L 600 | [
L 000 | 4 4
L 600 | 4 4
L 600 | 4 4
000 | 4 4
[—JL650 2600 | 4 4
[JLe52 30000 | 4 4
654 31,600 | 4 4
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o o o o 8/11 8/12 8/13 8/14
= HHRIT 4| #5347 B| RRI7 O B Dl e A TRy 6] B34 O A7 b By A 37 6] B O] By O] Foway A 57 6 50y C| B ay b 37 A 7 6| BEE G BEA7D
| EA | BAS | BRA | Su4 | SAM | SRG | SRS | B4 | SR | SRH | SR | SRS | SRA | BXS | SR6 | 284
R -EEa | AR (EE [ 40900 36900 900 36900 900 | 38900 | 36900 40900
2755 Rl .600 36.600 .600 36.600 400 42,000 51.400
KR (FFH =R Fy (P .800 .800 25.600 .800 28.700 38.800
HB. — .600 .600 9.700 .600 18.600 30.600
R -BE i (FFL % 600 600 28,600 600 28,600 6.600
AR .300 .300 31.100 .800 32.100 14.800
AR ] ENACE] 38 400 400 38.400 400 38.400 400
38 400 400 38.400 400 38.400 400
38 .400 .400 38.400 400 38.400 400
EHR 38 400 400 38.400 400 38.400 400
38 .400 .400 38.400 400 38.400 400
38 400 400 38.400 400 38.400 400
KR (FRH =B NG ] 38 900 900 28,300 900 28,300 500
38 .900 .900 28.300 .900 28.300 .900
38 .900 .900 28.300 .900 28.300 .900
38 .900 .900 28.300 .900 28.300 .900
38 .900 .900 28.300 .900 28.300 .900
38 .900 .900 28.300 f— .900 28.300 — .900
38 .900 .900 28.300 .900 28.300 .900
38 .900 .900 28.300 .900 28.300 .900
waes 38 .900 .900 28.300 .900 28.300 .900
38 .900 .900 28.300 .900 28.300 .900
38 .900 .900 28.300 .900 28.300 .900
38 .900 .900 28.300 .900 28.300 .900
38 .900 .900 28.300 .900 28.300 .900
38 .900 .900 28.300 .900 28.300 .900
38 .900 .900 28.300 .900 28.300 — .900
38 .900 .900 28.300 .900 28.300 .900
NG E ] X E | 38 800 800 30.300 800 30.300 800
38 .800 .800 30.300 .800 30.300 .800
38 .800 .800 29.800 .800 29.800 .800
38 .800 .800 30.300 .800 30.300 — .800
) 38 800 800 [ 30300 800 [0 800
C 38 800 800 29,800 800 29 800
L2246 38 800 800 [29.800 800 29 800
2250 38 800 800 29,300 — 800 |20 800
ARG A KR (FA) 3 | JL2300 38 700 700 [ 11.300 700 1. 700
[JL2305 38 700 700 [ 10800 700 1o 700 )
12309 38 700 700 [ 11300 700 it 700 i
TLsE | JL2302 38 700 700 [ 11.300 700 IR i1
[JL2306 38 700 700 [ 11300 700 IR i
12310 700 700 [ 18.300 700 18 18
B A ST KR (R 3 | JL2361 100 100 19700 100 19 19
L2365 100 100 [19.700 100 1o 1o
12367 100 100 [ 19700 100 19 19
xh% | J2362 100 100 [19.700 100 1o 1o
[CJC2364 100 100 [ 19700 100 19 19
L2366 100 100 | _19.700 00 20,
R (P =Kl KR (FF 5 | L 400 .400 23.200 00
L: .400 .400 23.200 400
L. .400 .400 23.200 400
L: .400 .400 23.200 400
B L 200 200 23.200 200
L: .400 .400 23.200 400
L. .400 .400 23.200 400
=] .400 .400 23.200 400
EAC ] L 25300 25300 23.800 25300
25, 25.300 23.800 25.300
25.: 25.300 25.100 25.300
25, 25.300 23.800 25.300
AR 25. 25.300 23.800 25.300
25, 25.300 25.100 25.300
25.: 25.300 23.800 25.300
5. 5.300 | _23.800 5.300
KR (=515 KR () % 7. 7.100 24800 7.100
7 7100 24,800 7100
7. 7.100 [ 24800 7.100
7 7100 24 7100
7. 7.100 [ 24 7.100
7 7100 24 7100
EBR 7. 7.100 [ 24 7.100
7 7100 24 7100
7. 7.100 [ 24 7.100
7 7100 24,800 7100
7. 7.100 24.800 7.100
=] 7. 7.100 24,800 7.100
FREM-ERE | AREME i 75000
25,000
25.000
25,000
25,000
25,000
25,000
ERmE 25,000
25,000
25,000
25,000
25,000
25,000
25,000
BEE (AR BT A BaE (IR [
ETACEZ3E [
EEEE) I | ZBEEEmE] I
XS L. —
ZHE(PE)=%E |Z&E(haEn %[ JL3303 [_17.500
T La304 | 3M 19,500
AR TR HRE L 7 27200
¥ 27200
FLIR (i F ) 5 L [ 27200
L 600 | 2 27200
AR EGTR S WERE [ %00 [ 22300
[JL2003 900 | 3 25,900
["JC2005 1900 | 3 22.200
L2907 500 | 3 22,200
L2909 900 | 3 25,700
FUI (BT ) 52 [_JL2900 1900 | 3 24700
["JC2002 1900 | 3 22.800
L2904 900 | 3 22,800
["JC2906 900 | 3 X 25.700
L2910 .900 | 3 .900 00 25.700
AR TR -58 [ L3403 300 | 34,900 | 300 | 34,900 | 34,300
108 (3 T i) 2 L3406 =] .300 | 35.400 .300 400 34.800
BE-ER BEE | JL3621 i 1000 | 20,900 1000 | 20900 | 20800 [
[_JL3625 .000 | 20.900 .000 | 20.900 20.300 | 20.900
["JC3629 000 | 20,900 1000 | 20,900 | 20800 20900
L3631 .000 | 20.900 000 | 20.900 20.800 | 20.900
[JC3633 — 000 | 20,900 000 | 20,900 | 20300 20900
L3639 .000 | 20.900 000 | 20.900 20.300 | 20.900
L3641 000 | 20.900 000 | 20900 20.300 | 20900
=0 [ JL3620 .000 | 20.900 000 | 20.900 20.300 | 20.900
[TJC3622 000 | 20,900 000 | 20,900 | 20300 20900
[ JL3626 .000 | 20.900 000 | 20.900 20.300 | 20.900
["JC3630 000 | 20,900 000 | 20,900 | 20800 20900
L3632 .000 | 20.900 .000 | 20.900 20.800 | 20.900
L3634 000 | 20.900 .000 | 20.900 20.300 | 20900
L3642 - .000 | 20.900 .000 | 20.900 20.300 | 20900
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= g [T A| 7| 87 0| BT O A e B 55 C A7 O] BT Al 8 TS G W7D
e | o | A | A | EAE | BRE | mEs | 8Rs | 6@ | SA@ | S6@ | SRE
TR (PH) IR (B FR)| RRCHE) R |_JL501 | R | 40100 | 32300 | 31.000 100 27500 | 2
[ JL503 100 | 32.300 | 31,000 100 | 27500 | 2
[ JL505 100 | 32.800 | 31.500 100 | 31.400
[ JL507 100 | 32800 | 31.500 .100 31400 | 3
[ JL509 100 | 32.800 | 31.500 .100 | 32800 | 3
L511 100 | 32800 | 31.500 .100 32800 | 3
L513 100 | 32800 | 31.500 .100 32300 |
L515 .100_| 29.000 | 27.700 .100 29000 | °
L517 .100_| 29.000 .100 29000 | °
L519 .100_| 29.000 .100 29000 | °
L521 .100 700 .100 29900 | °
[ JL523 100 | 28700 | ¢ .100 | 29900 | ¢
[ JL525 100 | 28200 | : .100 | 31400 | 3
[ JL527 100 | 27.700 | : .100 | 32300 | 3
[ JL529 100 | 27500 | ¢ .100 | 31400 | 2
[ JL531 100 | 27500 | ¢ .100 | 31400 | 2
L599 100 | 25800 | ¢ .100 | 30700 | 2
FLIR (BT 2%) 5 |_JL500 100 | 32.200 | 3 100 32.200 | 3
[ JL502 .100 | 32200 | 3 .100 | 32200 | 3
[ JL504 .100 | 32200 | 3 .100 | 32200 | 3
[ JL506 .100 | 32200 | 3 .100 | 32200 | 3
[ JL508 .100 | 32200 | 3 100 | 32200 | 3
5 .100 | 32200 | 3 100 | 32200 | 3
L .100 | 32200 | 3 .100 | 32200 | 3
L .100 | 32200 | 3 .100 | 32200 | 3
L .100 | 32200 | 3 .100 | 32200 | 3
[ L .100 | 32200 | 3 .100 | 32200 | 3
[ JL520 .100 | 32200 | 3 .100 | 32200 | 3
[ JL522 .100 | 32200 | 3 .100 | 32200 | 3
[ JL524 100 | 32200 | 3 .100 | 32200 | 3
[ JL526 100 | 32200 | 3 100 | 32200 | 3
[ JL528 .100 | 32200 | 3 100 | 32200 | 3
[ JL530 .100 | 32200 | 3 100 | 32200 | 3
L598 100 | 32200 | ¢ 100 [
R CHE)-8E HRCHE) % | JL303 400 | 28,100 | 2 400 [
[—JL305 400 | 28,100 | 2 400 [
[ JL307 400 | 29.100 | ¢ 400 =
[—JL309 400 | 29100 | 2 400 [
L311 400 | 29.100 | ¢ 400 =
L313 400 | 29.100 | ¢ 400 =
L315 400 | 29.100 | ¢ 400 =
L317 400 | 28.100 | ¢ 400 =
[CuL3ig 400 | 28,100 400 [
Laz1 400 | 28,100 400 [
[ JL323 400 | 28100 | 400
[ JL325 400 | 28100 | 400
[uLs27 400 | 28,100 400
[ JL329 400 | 28100 | 400
L331 400 | 28100 | 400
[JL333 400 | 28100 | 400
335 400 | 28100 | 400 [
BEE | _JL300 400 | 30500 | 400 [
N 400 | 30500 | 400 [
[uL304 400 | 30500 | 400 [
[—JL306 400 | 31500 | 400 [
[—JL308 400 | 31500 | 400 [
L 400 | 31500 | 400 [
L 400 | 31500 | 400 [
L 400 | 34300 | 3 400 [
L 400 | 34300 | 400 [
I 400 | 34300 | 400 [
[ uL320 400 | 34300 | 400 [
[ JL322 400 | 34300 | 3 400 [
[uLs24 400 | 29100 | 400 [
[—JL326 400 | 29100 | 2 400 [
[ JL3z8 400 | 34300 | 3 400 [
[ JL330 400 | 34300 | 400 [
L332 400 | 33300 | 400 [
FUR CRE) 0 (I08) | U (A% | _JLool 900 | 41.500 [ 900 I
[—JLo03 900 | 42,000 | 900 [ 3
[—JLo0s 900 | 42,000 | 900 [ 3
[—uLo07 900 | 42,000 | 900 [ 3
[—JLo09 900 | 42.900 | 900 [ 3
Lo13 900 | 42.900 | ¢ 900 [
LoT5 500 | 36800 | 500 [
Lo17 600 | 36800 | 600 [
Lo1o 500 | 36800 | 500
Lo21 600 | 36000 | 600
[ JLo23 500 | 36800 | 500 [
L925 500 | 36800 | 500 [
SRR (B 5 | JL900 500 | 36800 | 500 [
[—uLo02 500 | 36800 | ¢ 500 [
[ uLo04 500 | 36800 | ¢ 500 [
[—JLo06 500 | 36800 | ¢ 500 [
[—JLo08 500 | 41600 | ¢ 500 [
L 600 | 43,100 | 500 [
L 900 | 43,100 | 4 500 [ 4
L 900 | 43,100 | 4 600 [ 4
L 900 | 43,100 | 4 600 [ 4
L 900 | 43,100 | 4 600 4
[—uL920 500 | 43000 | 4 500 [ 3
L922 500 | 42,600 | 4 500 [ 3
KR (FFFH) =4LIR (B F8)| KR (FFH 2001 100 600 | 4 100 [ 4
2003 100 600 | 4 100 [ 4
[JL2005 100 600 | ¢ 100 4
(L2007 100 600 100 [ 3
[JL2009 800 800 [ 2
2019 100 100 [ 3
ALOR (37 F %) & | JL2000 .800 800 [ 1
(L2004 200 200 [ 2
[JL2006 500 500 [ 3
(L2008 800 800 [ 3
2010 100 100 [ 4
2016 100 100 [
RBR (BAE) =HLIR (Hi F20) KRR (BIZE) 5 2501 400 400
(L2503 700 700
2505 700 700
FLOR (37 F %) & | JL2502 .000 800
(L2504 900 700
2506 600 800
KB (D =18 KR (77 % 2051 600 600
(L2053 600 600
2061 600 600
AR 2050 600 600
(L2058 600 600
2060 600 600
KR (R =48 (BB | AW (G735 | JL208T 600 600
(L2085 400 400
2087 600 600
TR (e 3 | JL2084 500 100
[ JL2086 400 400
2088 500 500
ABR=ALIR G T %) fams 35 .500 .500
35 900 900
ALIR (R F %) 5 | JLIS .400 .500
35 000 000
R CRE)=8IE% RRECPHE)F [ JLS 38 .400 .400
JL5 38 400 400
JL5 38 400 400
EEL] JL5 38 400 400
JL5 38 400 400
JL5 38 400 400
R CRH)=EHE RECRE) 38 800 800
38 800 800
38 800 800
W 38 800 800
38 800 800
38 800 800
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5 . - - /75 8/T6
=1 . ﬁ'i:]’ A ﬁ‘i’: 8 ﬁ'i:]’ ° ’%227 O R A R 8] L O R O] BT AR 8] AT O REATD
B AE | BB | B AR | o | ERH | ERE ERE | EwE | ERE ERE
RRPAE) - ESACT)E 3 VA 600 | 18.800 600 | 18800
1233 600 | 18.800 600 | 18.800
[ Jr237 600 | 18.800 600 | 18.800
[Jr239 600 | 18,800 600 | 18,800
L241 600 | 18,800 600 | 18.800
LR | JL232 600 | 18,800 600 | 18,800
[JL234 600 | 18,800 600 | 18,800
[JL236 600 | 18,800 600 | 18,800
L240 600 | 18,800 600 | 18.800
1242 600 | 18,800 600 | 18.800
RRECHE)=LES RS CHE) % |_JL253 100 22,600 100 22,600
[JC255 100 | 22,600 100 | 22600
[JL257 100 | 22,600 100 | 22600
[JC259 100 | 22,600 100 | 22600
261 100 | 22,600 100 | 22600
[JC263 100 | 22,600 100 | 22600
[JC265 100 | 22,600 100 | 22600
267 100 | 22,600 100 | 22600
EEBR® | J252 100 | 22,600 100 | 22600
[JL254 100 | 22,600 100 | 22600
[JC256 100 | 22,600 22.600
[J258 100 | 22,600 22.600
[JL260 100 | 22,600 22.600
[JL262 100 | 22,600 22.600
[JL264 100 | 22,600 22.600
L266 100 | 22,600 22.600
RERERCABE)=WAOFH | RRCAB) R L291 il 200 29.400 29.400
[Jr203 il 200 | 29400 29.400
[ L2905 il 200 | 29400 29.400
207 il 200 | 29400 29.400
wosgpse [ JL290 Bl 200 29.400 29.400
[JL292 il 200 | 29400 | 20400 |
L2904 il 200 | 29400 29.400
1296 il 200 | 29400 29.400
R CRAE)= RRCAE) % | JL277 — 600 | 30000 30000
L279 600 | 30000 30000
[Jr283 600 | 30000
[ 285 600 | 27.600
287 600 | 27.600
HESR L276 600 | 27.600 |
[JL278 600 | 27.600
[JL280 600 | 30000
[Ji28a 600 | 30,000
1286 600 | 30,000
RRECHE)=ES RECAE) % [ JL453 .300 28.200
L455 300 | 28200
[JC459 300 | 28200 |
461 300 | 28200
[JC463 300 | 28200 |
L465 300 | 28200
BB | _J52 300 | 28200
[Jtasa 300 | 28200
[ JL456 300 | 28200
[Jt460 300 | 28200
[Jt462 300 | 28200
L464 300 | 28200
R CAE) =B RRCAE) 5 [ JLAT5 700 | 28500
L477 700 | 28500
L479 700 | 28500
L481 700 | 28500
[Jr4s3 700 | 28500
[JCass 700 | 28500
487 700 | 28500
I L474 700 | 28500
L476 700 | 28500
[Jta7s 700 | 28500
[ JC4s0 700 | 28500
[Jtasy 700 | 28500
[Jtasa 700 | 28500
1486 700 | 28500
HRCRE) HRECRE) & L491 .000 28.400
[Jr493 000 | 28400
[JC495 000 | 28400
[Jtag7 000 | 28400
L499 000 | 28400
wmEsE [ JLA90 000 | 28400
[Jragy 000 | 28400
[Jtass 000 | 28400
[JC496 000 | 28400
L498 000
R CRE)=#M0 R (HE) % L431 .500
[Jr4s3 500
[Jr4ss 500
[Jr4s7 500
[Jr439 500
1443 500
TLSE [ JL430 500
[Jr4s2 500
[Jrass 500
[JL436 500
[Jr4ss 500
L440 500
RRECRHE)=XS RER(PAE) R L661 .200 [ 42200
[ JC663 200 [—42.200
[ JC665 200 [—42.200
[ JC667 200 [—42.200
[ JC669 200 [—42.200
L671 200 [ 42.200
KHgE [ JL662 200 [—42.200
[ JC664 200 | 42.200
[ 668 200 | 42.200
L670 200 | 42.200
L672 200 | 42.200
L674 200 [ 42.200
RECRE) =R RECRE)$ [ JL60S .900 | 45900
[ JC607 900 | 45,900
[ JL609 900 | 45.900
L611 900 | 45.900
L613 900 900
L615 900 [ 45,900
Ri&5E | _JL606 900 [ 45.900
[ JC608 900 | 45.900
L 900 [ 45,900
L 900 [ 45.900
L 900 [ 45,900
L 900 | 45,900
HR(HE) % 400 |_43.400
400 [ 43400
400 [ 43400
400 [ 43400
400 | 43400
400 | 43400
400 | 43400
400 | 43400
REAR 400 | 43400 |
400 | 43400
400 | 43400
400 | 43400
400 | 43400
400 | 43400
400 | 43400
400 | 43400
RECRE)=2 RECRE) .400 | _43.400
400 | 43400
400 | 43400
400 | 43400
400 | 43400
400 | 43400
ECE 400 4
400 [ 4
400 [ 4
400 [ 4
400 [ 4
400 [ 4
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. o . o 8, 8/16
= gy [T A| BT B| B 0| RO A s T30 0| 7 A7 6] AT G BEID
a2 | 15 | B e | e | BB | ERE WA | B | R | ERE | ERE
TR (D R, RRCAE 5% | _JLedl Ll il 900 | 35100 ] [ 30900 [ [ 36000
L643 .900_|_35.100 30900 | 4 [ 36000 | 3
L645 .900_|_36.000 31300 | 4 [ 36000 | ¢
L647 900 |_33.100 30900 | 4 [ 33100 | 3
L649 .900 | 36,000 30900 | 4 [ 36000 | ¢
L651 900 | 35800 30.100 | 4 35800 | 3
[ JLe53 .900 | 35500 29600 | 4 [ 35600 | 2
L655 .900 35.500 29600 | 4 | 35600 | 2
ERER L .900 | 40000 | | 37400 [ 4 [ 40000 | 3
L .900 | 36900 34800 | 4 [ 36900 | ¢
L .900 | 40.400 37400 | 4 | 40400 | 3
L 900 40400 | [ 7400 | 45900 | a0.400 | 3
.900 | 36500 34800 | 4 [ 36500 | 3
.900 | 40.000 37400 | 4 [ 40000 | 3
.900 | 36500 34800 | 4 [ 36500 | 3
.900 37400 | 4 [ 40000 | 3
PNACEIE s 1] KO (R ) B L 38 .700 | 35100 [ 3
EAIR L 38 400 [ 30200 | 3
KR (FFFH=hE)I Fli () 3 L? 38 .700 | 34500 | 1
FEHE: L 38 900 [ 24400 | 2
KR (57 =BRfE *l (BFH % | JLZ kil 300 [ 26200 | 2
B L: 800 |3 [ 34600 | 3
KR FD-Am | KR [JL2151 400 | [ 39000 |
L2153 400 |3 [ 39.000 | 3
L2157 400 |3 [ 39.000 | 3
HHRR L2152 400 | 3 [ 39000 | 3
L2154 400 |3 [ 39.000 | 3
L2158 400 |3 [ 39.000 | ¢
KR (FD-WE | KR(FMZE | JL2201 900 | [ 32900 |
[JL2203 1900 |3 [ 32900 | ¢
[JL2205 1900 |3 [ 32900 | ¢
[JL2207 1900 |3 [ 32900 | ¢
[ JL2209 1900 |3 [ 32900 | ¢
L2211 1900 |3 [ 32900 | ¢
12213 1900 |3 [ 32000 | ¢
L2215 1900 |3 [ 32000 | ¢
Wasx ["JL2200 1900 | 3 [ 32900 |
[JL2202 1900 |3 [ 32000 | ¢
[JL2204 1900 |3 [ 32000 | ¢
[ JL2206 1900 |3 [ 32000 | ¢
[ JL2208 1900 |3 [ 32000 | ¢
12210 1900 |3 [ 32000 | ¢
2212 1900 |3 [ 32000 | ¢
2214 1900 |3 [ 32000 | ¢
FRFRFR | KRR [ 2241 800 |3 [ 30900 |
2243 .800 | 3 | 30.900 |
[ JL2247 .800 | 30.900 | | 30900 | ¢
2251 .800 | 30.900 | | 30900 | ¢
AR 2240 .800 | 30.900 | | 30.900 |
2244 .800 | 30.900 | | 30900 | ¢
[ JL2246 .800 | 30.900 | | 30900 | ¢
2250 .800 | 30.900 | | 30.900 |
FRFR AL | KRB [ JL2301 700 | 19600 | [ 19600 |
[ JL2305 700 | 19.600 [ 19.600
309 700 | 19.600 [ 19.600
Tal%E | JL2302 700 | 19.600 [ 19.600
[ JL2306 [ 19.600 [ 19.600
310 [ 19.600 [ 19.600
KBRS | AB(FA % | J236] =00
700
KRR
FRFR-EB | RAR(FDE i [
S | 2
7 | 2
ECES [
FIR (B % -
AR [ J2s2 [
FRFR-E8B | RAR(FDE el
[ JL2a37
[ JL3925
441
443
ERE [ 2430
[ JL2a32
[JL2a3a
[ JL2a38
[ JL3926
442 [ 2 [_27.000 |
FEFM-ERE | XRPME [ 2601 [ | 26800 |
800
[ 2 [ 28,800
[ 2 [ 28,800
[ 2 [ 28,800
[ 2 [ 28,800
[ 2 [ 28,800
BREB® | JL2400 [ 2 [ 28,800
[ 2 [ 28,800
[ 2 [ 28,800
[ 2 [ 28,800
[ 2 [ 28,800
[ 2 800
800
EEE(FE AR BT BEE(PEE
AR F TR %
BEE (FE)-HIE | BER hE 38 -
8l18%- 38 p—
FEE(TE)BE | AAE(hE %[ 3308 38 500
ER 4 38 500
IR F TR 58 EEL: 81 500
HRF TR % 00
IR F TR -5 WEE  [J2%0 900 [ 2
[ JL2903 900 | 26
[_JL2905 900 | 25
[ JL2907 900 | 26
2909 900 |26
LR B ) 3% [ L2900 900 [ 2.
[ JL2902 900 24
[ JL2904 900 27
[ JL2906 900 25
2910 900 25
HIREFFR) LS LE% 3403 300 [ss.
FLOE (35 T 80 % | L3406 300 o
TRE-IIE BESE [ Jsl 200 [ 45
3537 200 |45
WEs [ JL3530 200 45,
3538 ] .200 459
TRE-E R msE |6l i 000 [ 2.
[ JL3625 1000 20,
[ JL3629 1000 20,
[ JL3631 1000 20,
[ JL3633 1000 20,
[ JL3639 1000 20,
3641 1000 20,
BA% | JL3620 1000 20,
[ JL3622 1000 20,
[ JL3626 1000 20,
[ JL3630 1000 20,
[ JL3632 — 1000 20,
[ JL3634 — 1000 20,
3642 — 1000 2.
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A '8 C | 3721
o s sz *“"?;7 *“"i? ﬁz’é’ BET Al BR8] BT O BEHTD
| Gl | A | B | B aAE | mAE | GAE | GAm
R (B FD A B B)| AR (FFD R | 2001 il = ST
[ JL2005 37.400
[ _JL2007 36.400
[ JL2009 25.200
2019 37.400
FLIE (B F i) % [_JL2000 22,500
| JL2006 24.300
[_JL2008 23.800 —
L2010 39.700
2016 39.700
HIRFH TR =LS REg 3403 38.800
AL0T (BT 48) % 3406 40.500 —

JAL
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=36

&4

8/17-24

BEIMIE

E=7H
EHES

R (FE) =AU (B F )|

RR(PE) R

JL501

JL503

JL505

JL507

JL509

JL5T1

JL513

JL515

JL517

JL519

JL521

JL523

JL525

JL527

JL529

JL531

JL599

AL (i) %

JL500

JL502

JL504

:26.600, -

JL506

JL508

JL510

JL512

JL514

JL516

JL518

JL520

26.600. 426
B :26.

JL522

JL524

JL526

JL528

JL530

JL598

KB () =ALIR (i F i)

R (FFH R

J12001

JL.2003

J1.2005

JL.2007

J1.2009

JL2019

WREFHFR) R

J1 2000

J1.2004

JI 2006

J1.2008

12010

JL2016

ABR ()

AR (FFH R

12081

NE]
. H:25.500
H:26.300

J1.2085

JI 2087

R CIRER) R

J1.2084

JI 2086

J1.2088

BE=HIR FTFR)

BEI%

JI 3613

JL3515

H:30.000. 1:31.400. H:31.000

HWREFFR) R

JI3510

JL3512

£:31.500,

RECHE) =5

RR(CHE) R

1565

JL567

1569

ESCPIES

JL562

B
A
B

1564

JL566

RECHE)=R)I

RR(CHE) R

JL551

JL553

JI 555

JL557

JENIES

1552

JL554

1556

JL558

RR(FE) =8

RR(CHE) R

1541

JL543

JI545

ETE S

JL540

1542

JL544

RECHE)=HIA

RRCHE) R

JI573

JL575

577

JL579

IR

JL570

JL572

JL574

JL576

R CFE)=EE

RR(CHE) R

JL585

JL587

JL589

EEER

JL584

JL586

JL588

R (PE) =IO FE

RR(CHE) R

JL291

JL203

JL295

JL207

JL290

JL202

JL294

JL296

RRCHE) =AM

RR(CHE) R

JL373

JL375

JL377

JL379

EAMSE

JL370

JL374

JL376

JL378

RRCHE)=X5

RR(CHE) R

JL661

:18,600

JL663

:26.000, T :

JL665

JL667

JL669

JL6T1

EES

JL662

JL664

JL668

JL670

JL672

JL674

H:23.900

R CHE)=RE

R () %

JL605

H:26.900

JL60T

JL609

JL611

JL613

JL615

RIAH

JL606

JL608

JL610

JL612

JL614

JL616

H:26.300

H:26.300

£:26.400

KR (FFH =Rl

KB (R %

JL2111

JL2112

A£HE () =8I

ZER (D) 5

JL3131

JL3132

2X:9.400

L£HE (PE)=FIE

ZER (D)

JL3303

J1.3304

ALIR (BT FR) =518

HiRH

JL2871

J12877

AR (TR %

JL2872

JL2876

IR FFR)=ES

JL3403

LES
FLOB (3 F58)

JL3406

HE=FLIR G FR)

JL3421

H:26.100, &+ H:27.200

H:26.200, F H:27.200

H:10.600

FLOB (3 F58) B

J13426

ER=ARFHTR)

JL3437

A=
FLOB (3 F8) F

J13436
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sg—:n
= BEIIE
XA E8 TS
EIEIES
R CRB)=HLIE (T FK)| RRCAB)F [_JLs501 X 53% [ 7:15.200.
JL503 100 | 53% | H:15.200,
JL505 000 | 48% |H:18.000,
JL507 000 | 48% |H:18.000,
JL509 22.900 | 44% | H:20.300, %:27.400. . N
JL511 22.900 | 44% | H:20.300. %:27.400, £:27.400. H:
JL513 21.000 | 48% | H:18.400, £:26.000. £:26.600.
JL515 20400 | 50% [H:17.300, 00,
JL517 000 | 48% |H:18.000. £:25.400, £:22.900.
JL519 000 | 48% |H:18.000. £:25.400, £:22.900. H:
JL521 300 | 48% | H:18.400, 000, +:22.600.
JL523 300 | 48% | H:18.400, 600
JL525 22.300 6 00
JL527 23.500 00,
JL529 22.300 : 00,
JL531 22.300 B: 00,
JL599 21,000 B: 00,
ALIR (FF8%) 5 [_JL500 25,400 B 00,
JL502 26,600 ZB 00,
JL504 100 B: 00,
JL506 100 B: 00,
JL508 500 | 42% | H:17.400. £:25.400, £:24.800.
JL510 500 | 42% | H:17.400. £:25.400, +:24.800. H:
JL512 100 | 41% |H:18.300. £:26.600, £:24.800.
JL514 800 | 39% [H:19.000,
JL516 25100 | 38% |H:19.500, £:27.400. . N
JL518 25100 | 38% [H: 27400, £:25.000.
JL520 25400 | 37% [H: 27400, H:23.700
JL522 25.400 7% A
JL524 25.400 7% A
JL526 100 1% |A:
JL528 500 | 42% |A:
JL530 500 | 42% |A:
JL598 500 | 42% |A:
KR (FFH) =4L0% (B Fi%)| KR (FFH % |_JL2001 26.900 46% |A:
JL2003 26.900 | 46% [H:
JL2005 26.900 | 46% [H:
JL2007 25900 | 48% [H:
JL2009 000 | 72% [A:
JL2019 000 | 70% |A:
FLIR (B F8%) 5 |_JL2000 .800 76%
JL2004 000 | 72%
JL2006 000 | 72%
JL2008 500 | 73%
JL2010 28500 | 43%
JL2016 28500 | 43%
KR (5 =i (BFR) | KR (FFH % [ JL2081 14.600 65%
JL2085 9.600 77
JL2087 9.600 z
SR (ARER) & | _JL2084 9.600 7
JL2086 13.600 7
JL2088 14.600 | 65%
BE=HLIRFFR) EER JL3513 30,000 % | H:27.000. £:27.200. H:27.200
JL3515 9,500 H:23.200
FLIR (BT FR%) $|_JL3510 9.500 £:23.200
JL3512 30,000 % | H:27.000. £:27.200. H:27.200
HR CHE) =)l WA (FE)F |_JL551 24.400 9% | H:23.500, £:27.000. +:28.500. H:22.200
JL553 26.700 A:
JL555 23.400 ZE
JL557 23.400 A:
JENIES JL552 22.200 B
JL554 25.200 A: E2
JL556 4,500 B E2
JL558 4,500 E2
RRCRE)=HIA FR(CPE) % |_JL573 .200 B
JL575 1200 E2
JL577 .300 E]
JL579 800 E]
HILFE JL570 .500 S
JL572 .700 E2
JL574 700 E2
JL576 20.700 : E2
R (CHE) =K WA (PA) S | _JL585 18.900 | 51% [%:19.700. . £:21,500. £
JL587 20,000 | 48% [%:23,000, +:22,400, H:22.400
JL589 20,000 | 48% [%:23,000, £:22,400. H:22.400
B JL584 600 | 54% & ,900
JL586 000 | 45% ,200, H:25,000
JL588 000 | 45% 1200, H:23,500
HRCRE) =LA FH HRCAE) S [ JL201 .100 74% 00
JL293 300 | 71% 00
JL295 700 | 70% 00
JL297 000 | 71% 000, H:14,300
[NEES=E 3 NPT 600 | 70%
JL292 ,300 | 68%
JL294 700 | 70% 00
JL296 200 | 73% 00
RRCRE)=JAM RRCRE) % | _JL373 400 56% 00
JL375 20900 | 53% |
JL377 22,900 | 48% 00, H:22.000
JL379 22,900 | 48% 00, H:22,000
TN JL370 19,100 | 57% 900, H:16,900
JL374 20,900 | 53% 00, H:19.900
JL376 21,100 | 52% 00. B
JL378 18,900 | 57% 00
KER (D =)l AR (FFD % | JL2111 11,600 | 79%
JEIIE: JL2112 9,600 82%
ZHE (I -HIE |[BEE (D] J13131 11,400 | 76% [X:9.400
FIFEED JL3132 11,400 | 76%
LHE (P =HE [BEEHE) | 413303 9,400 79%
L% JL3304 9,400 79%
ALIR (B F i) =#7i% EEES JL2871 27,100 25%
JL2877 25800 | 29%
FLIR (BT FR%) 5 |_JL2872 25,900 29%
JL2876 26,100 | 28%
IR (FFR)=LS L& JL3403 17.400 68%
AL (BT 28) S [ J1.3406 22,500 | 59%
HE=ALIR(HFR) HE JL3421 10,600 | 78%
ALIE (BT 28) S| J1.3426 12500 | 74%
EE=HIR TR e JL3437 9,700 81%
ALIE (BT 28) %[ 13436 9,700 81%
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9/1-17
=40} FEIMIE
wam | 200 [
FRCPE)=4EEGRE) | FRCAE) R |_JLo01 HAT_|29.000
JL993 29,000
JL903 31,000
JL905 31,000
JL907 31.000 31
JL909 22,600 22,900, %:25.100, £:27.100. H:21.600
JL913 22.100 24,600, +:24.600, H:21.100
JL915 7.700
JL917 .000
JL919 .000
JL921 900
JL923 .000 | 68% |A:17.700. £:17.700, H:19.700
JL925 000 | 68% |A:17.700. £:29.100, H:19.700
SR (ARER) & |_JLo00 .800 73% :14.900
JL902 400 | 69% |H:16.400
JL994 900 | 70% | H:15900
JL904 900 | 70% | H:15900
JL906 900 | 68% |H:16900
JL908 700 | 62% .700. H:19.700
JL910 28800 | 38% 29,100, H:30.300
JL912 28800 | 38% 29,100, H:30.800
JL914 28800 | 38% 29,100, H:31.500
JL916 31.000 | 33% 28,800, H:31.700
JL918 29.800 | 36% 28,700, H:31.500
JL920 23100 | 50% 26,500
JL922 22100 | 53% |H:23500 _
KR (B =R (FFm)| KR (FM % [JL2001 25400 | 46% |A:27.200, £:29.100, £:31,500, H:19.400
JL2005 25400 | 46% 27.200. £:27.800, £
JL2007 400 | 48% 25400, %:25.800, £
JL2009 000 | 72%
JL2019 700 | 69%
ALIR (37 F %) & [_JL2000 .200 70%
JL2006 1200 | 70% ]
JL2008 700 | 71% 300, B:15.
JL2010 25400 | 46% 23,500, H:29.100
JL2016 25400 | 46% [+:23500, H:29.100
R (PE) =% 5 RRE(PE) % [_JL565 21.200 | 55% |%:24.400, £:25.400
JL567 21.200 | 55% [%:24.400. £:25.400
JL569 20900 | 56% [%:24.000. %:23.200. H:22.800
SRS JL562 20200 | 57% [%:21.900. H:27.800
JL564 20200 | 57% [%:21.900. H:27.800
JL566 20300 | 57% [%:21.300. %:18.100. H:25.600
HR CHE) =)l WA (FE)F |_JL551 200 | 49% | A:24.000. £:24.700, +:25.500. H:22.600
JL553 800 | 47% 1400 £:27.400
JL555 100
JL557 100
JENIES JL552 .900
JL554 1800
JL556 1100
JL558 1100
RRCRE)=HIA FR(CPE) % | _JL573 .700
JL575 .200
JL577 20.200
JL579 20.700
HILFE JL570 20.200
JL572 500
JL574 500
JL576 300
FRCRE)=EE RE(CPE) R |_JL585 .200
JL587 .700
JL589 22.300
EER JL584 21.300
JL586 25,000
JL588 22.200
RER(CRE)=#8 FRCPE) % |_JL453 100 Y
JL455 100 A +14.100, +:8.800. H:8.800
JL459 100 A +14.100, +:8.800. H:8.800
JL461 500 A +15.000, +:8.800. H:8.800
JL463 700 | 56% 00. H:8.800
JL465 700 | 56% 800, H:8.800
RS JL452 .300 58% 500, +:8.800, H:8.800
JL454 800 | 59% 700, %:14.500. %:8.800. H:8.800
JL456 800 | 59% | H:14.700. £:14.500. £:8.800. H:8.800
JL460 300 | 58% |%:14,800, £:8,800. H:8,800
JL462 700 | 56% |%:15400, £:8,800. H:8,800
JL464 700 | 56% |%:15400, £:8,800. H:8,800
R CHE) =B R (PEE)FE [_JL401 800 | 50% |%:18,000, 700, H:15,300
JL493 400 | 54% [%:17.900, ,900, H:16,100
JL495 .900 | 56% |£:17,400, £:17.400, H:17.000
JL497 800, £:16,100
JL499 X .400. £:16,100, B:19,700
TS JL490 7.800 600, H:15,200
JL492 600 400, B:15,700
JL494 500 800 £:16,400, H:16,500
JL496 100 600 £:16,600, B:18,800
JL498 20,900 1200, E:1
RR(CRE)=K5 RRCRE) % |_JL661 ,400 21
JL663
JL665
JL667
JL669
JL671
K55 JL662
JL664
JL668
JL670
JL672
JL674 X
RRCRE)=R& RRCRE) % |_JL605 ,900
JL607 20,000
JL609 20,700
JL611 20,700
JL613 8,000
JL615 8,000
RIEF JL606 7.900
JL608 8,900
JL610 7,200
JL612 20,600
JL614 20,600
JL616 19,000 :
HRECRE) =X HECRE) % |_JL623 20,000 2% | A:2
JL625 121,100, £:21.500,
JL627 21,100, £:21.500,
JL629
JL631
JL633
JL637
JL639
=33 JL622 00
JL624 00
JL626 00
JL628 00
JL630 00
JL632 00. F1:22,200
JL634 :19.000, H:22.400
JL638
B (P B =FLIR (9 T3] & & 2 (FPED) 36| JL3103
JL3105
JL3107
JL3117
ALIR B F %) & |_JL3100
JL3106
JL3114
JL3118
WREFFR)-LE EES JL3403
ALIE (B F28) %[ J1.3406
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RS B4 - BEITE
mra | 20N [
R CRB)=HLIE (T FK)| RRCAB)F [_JLs501 20.400 47% _[:X:20.300, #:22.400, £:23.300
JL503 18.600 | 51% |H:19.200, %:22.400. £:23.300, H:19.400
JL505 20500 | 46% 0
JL507 23800 | 38%
JL509 23800 | 38%
JL511 23800 | 38% 21
JL513 20700 | 46% E:23.300. H:21.000
JL515 19.900 | 48%
JL517 19.600 | 49% £:20.700, B:21.700
JL519 19.600 | 49% . +£:20.700. B:21.700
JL521 20.700
JL523 20.700
JL525 21.700
JL527 22.500
JL529 20000 | 4
JL531 21.200 | 45%
JL599 20500 | 46%
IR (B F8%) % [_JL500 21100 | 45% £:22.400, H:19.900
JL502 22400 | 41% 0
JL504 100 | 45% 00, H:20.800
JL506 100 | 45% 00, £:21.700. H:20.800
JL508 200 | 50%
JL510 600 | 49% | 3:19.900. 19,500 &21.100, 19200, H23.300
JL512 900 | 48% 20,000, %:21.100, +:19.200. H:23.600
JL514 20500 | 46%
JL516 20900 | 45% 22,400, £:1
JL518 20.900 | 45% | %:22.400. £.19,900. B:24.900
JL520 21.100 19,9
JL522 21.100
JL524 20.600 H:24.000
JL526 .900 0
JL528 .200
JL530 .200
JL598 .200
FERCRE) =4 GRH) | FRCAE) R |_JLoo1 500
JL993 500
JL903 .000
JL905 .000
JL907 .000
JL909 28.700
JL913 28.200 24,600, H:21.100
JL915 7.700
JL917 800 | 66% 7200, 817200
JL919 000 | 70% 700
JL921 900 | 72% 700
JL923 000 | 68% 800 %:15.800. H:17.200
JL925 000 | 68% 800 %:29.100, B:17.200
SR (BRER) S | JL900 .800 73% .900
JL902 1400 | 69% 300, J:14.300. B:
JL994 .900 | 70% .200. 4:13.200. B
JL904 .900 | 70%
JL906 900 | 68%
JL908 800 | 66%
JL910 1900 | 40%
JL912 7.900 | 40%
JLo14 29800 | 36%
JL916 30000 | 36% 29,100, £:26.900. B
JL918 28500 | 39% 27,400, £:26.300.
JL920 23100 | 50%
JL922 22100 | 53%
KR (FFH) =4L0R (B Fi%)| KR (FFH R |_JL2001 25.400 46%
JL2005 25400 | 46%
JL2007 400 | 48%
JL2009 000 | 72%
JL2019 700 | 69%
FLIR (B F8%) 5 |_JL2000 .200 70%
JL2006 1200 | 70%
JL2008 700 | 71%
JL2010 100 | 36%
JL2016 100 | 36%
FR(CRE)=&#m5] HECRE) % |_JL565 .200 55%
JL567 200 | 55%
JL569 20900 | 56%
ESTIES JL562 20200 | 57%
JL564 20200 | 57%
JL566 20300 | 57%
R CRE)=RJI RRCRE) % |_JL551 ,200 49%
JL553 800 | 47%
JL555 200 | 46%
JL557 200 | 46%
JEVIIES JL552 1,900 51%
JL554 2,900 | 49%
JL556 20,600 | 54%
JL558 20,600 | 54%
RA CHE) =® L WA CAE) % | _JL513 19.300 | 56% |
JL575 22,700 | 48%
JL577 19.700 | 55% |4
JL579 20,200
L% JL570 20,700
JL572 20,000
JL574 20,000
JL576 18,800 | ¢
R CHE) =K R (@)% [ _JL585 22,400 8%
JL587 20,600 | 43%
JL589 23300 | 35% —E.24.500
B JL584 21,300 | 41%
JL586 25,000 30% :t.zo‘soo. H:26,500
JL588 ,900 | 36%
RR(CRE)=8 RRCRE) % |_JL453 .500 1% 500,
JL455 500 1% 500,
JL459 500 1% 500,
JL461 100 | 46% 300,
JL463 300 | 46%
JL465 300 | 46%
[ JL452 ,900 7%
JL454 7100 | 49% 5,600, :9.800, B
JL456 7,100 49% ,600, £:9,800, X
JL460 7900 | 47% ,900, £:11,000, B:
JL462 300 | 46%
JL464 300 | 46%
R CHE) =B R (FE) % [_JL401 600 | 40%
JL493 20,300 | 43%
JL495 9.800 | 45%
JL497 2,400 | 38%
JL499 4,700 | 31%
BRI JL490 .700 40%
JL492 400 | 38%
JL494 400 | 46%
JL496 900 | 36%
JL498 700 | 31%

JAL
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EEERE 2020/07/17 ~
9%:;—30
= BEITE
XA E8 BED
5%
RRCRE)=K5 FRCRE) % |_JL661 X
JL663 000
JL665 .000
JL667 23.000
JL669 25.900 ,000. 7k: R
JL671 23,800 400, K:22.800, £:24
RRF JL662 22,000 500, &:21 2
JL664 000 00. &
JL668 000 00. &
JL670 300 00, K:
JL672 100 00. &
JL674 23.000
FRCRE)=RE RRE(PE) % |_JL605 20.900
JL607 22.200
JL609 20.300
JL611 20.300
JL613 20.400
JL615 20.400
RIBF JL606 20.200
JL608 21.100
JL610 20.100
JL612 22.800
JL614 22.800 17.300, H:
JL616 21.300 16.100
FRCRE)=REX RRE(PE) % |_JL623 19,600
JL625 20.000
JL627 20.100
JL629 100 00. A
JL631 100 00. A
JL633 .200 00, &
JL637 400 00. £
JL639 100 00. £
HEARF JL622 20.100 00, £
JL624 20.600 00. £
JL626 17.000 00, K:
JL628 16.800 00, £
JL630 20.200
JL632 20.600
JL634 20.600
JL638 17.500
B (FPED) =L (31 T3 & 2 (PER) 56| JL3103 26.900
JL3105 22.900
JL3107 .900
JL3117 800
ALIR B F %) | _JL3100 .800
JL3106 900
JL3114 000
JL3118 000
IR (B FR)=LS L% JL3403 .300
0% (BrF8) $| JL3406 .400

JAL
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EEERE 2020/07/17 ~
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=40} B8 5 FEIMIE
mra | 20N [
R CRB)=HLIE (T FK)| RRCAB)F [_JLs501 21.100 22400, %:21.700, :22.300
JL503 19.100
JL505 20,600
JL507 800
JL509 800
JL511 500
JL513 500
JL515 900
JL517 7.400
JL519 7.400
JL521 8.600 200
JL523 8.600
JL525 9.800 00,
JL527 20.700 00,
JL529 18.400 00,
JL531 19.300 00,
JL599 26.700 00,
FLOR (F7F#%) 5 |_JL500 19.600 00,
JL502 21.900 00,
JL504 20,000 00,
JL506 20,000
JL508 7.900
JL510 7.400
JL512 9.300
JL514 9.800
JL516 9.800
JL518 20.500 20,800 22,900, 22,500,
JL520 22000 | 42% | A:24.000, £:23.700. £:20.500.
JL522 21.800 3 00,
JL524 21,300 4 00,
JL526 20.200 7 00,
JL528 20.100 7 00,
JL530 9300 | 49 00,
JL598 3.900 | 37%
FERCRE) =4 GRH) | FRCAE) R |_JLoo1 7.400 41% 00,
JL993 7400 | a1% 00,
JL903 29800 | 36% 00,
JL905 29800 | 36% 00,
JL907 29800 | 36% 00,
JL909 28700 | 38% 7.000.
JL913 28200 | 39% . 24,500, 24,500,
JL915 7700 | 62% 20,900, H:19.100
JL917 .000 | 66% 100
JL919 000 | 70% 700 7K:12.700
JL921 900 | 72% 700 K:11.700
JL923 .000 | 68% |A:17.700. £:17.700, £:19.100. H:19.100
JL925 000 | 68% |A:17.700. £:26.200, £:19.100. H:19.100
SEB(ARER) & |_JL900 .800 73% :14.900
JL902 300 | 69% |A:14.400. £:14.400. £:14.400. H:
JL994 200 | 72% |A:13.900. £:13.900. £
JL904 200 | 72% |A:13900.
JL906 800 | 68% |A:14.900.
JL908 700 | 62% [£:19.100,
JL910 7700 | _41% [£:29.200.
JL912 7700 | 41% [£:29.200.
JLo14 29800 | 36% | H:27.700. £:28.000. :t H:30.600
JL916 29.800 | 36% [A:31.300. %:27.700. H:30.600
JL918 28200 | 39% |A:30.400. %:27.100. H:30.600
JL920 23100 | 50% 25,900
JL922 21100 | 55% 22,100, 7K:22.100, A:22.100. H:23.400
KR (=40 (F )| KR (A% [JL2001 25.400 28,700, %:30.600, +:31.900. B:
JL2005 25.400
JL2007 400
JL2009 700
JL2019 700
FLIR (B F8%) 5 |_JL2000 .200
JL2006 .200
JL2008 .700
JL2010 25.400
JL2016 25.400
KR (BS#E) =4L0% (B F#%)| AW (B#E) % | _JL2501 22.400
JL2503 400
JL2505 1400
AL (BT F ) 5 [_UL2502 1400
JL2504 400
JL2506 .700
RR(CRE)=k#m5] FRCPE) % |_JL565 .300
JL567 1300
JL569 200
ESTIES JL562 1300
JL564 300
JL566 20,500
R CRE)=RJI RRCRE) % |_JL551 21,600
JL553 22,500
JL555 20,200
JL557 20,200
JEIIES JL552 21,000
JL554 20,300
JL556 22,700
JL558 22,700
R CHE) =5 R (FE) % [ _JL585 20,800
JL587 19,700
JL589 22,200
B JL584 20,000
JL586 2,400
JL588 3,000
RRCPE)=8 FRCRE) % |_JL453 7,200
JL455 7,200
JL459 7,200
JL461 ,600
JL463 ,800
JL465 ,800
[ JL452 600
JL454 700
JL456 7,700
JL460 400
JL462 700
JL464 700
RRECAB)=BH ERCAE) S [ _JL4o1 X
JL493 200
JL495 700
JL497 1400
JL499 700
BRI JL490 20,600
JL492 1400
JL494 300
JL496 .900 $.23,000, 1
JL498 700 K.26.000, £23

JAL



MEEEIS121 SBER(10A1~8BEES)

EEERE 2020/07/17 ~
70/1-8
4] B8 BEIMIE
R | B0
e EES
RRCRE)=K5 RRE(PE) % |_JL661 23.800
JL663 23,900
JL665 .000
JL667 .000
JL669 400 | 42 23,000, 24400, &
JL671 400 | 42% 24,400, %:24.700, £ 23 500, 524,000
RRF JL662 .000 48%
JL664 .000 :
JL668 .000 23,300, 24,000, 23,400 £:23.800, H23400 |
JL670 22.700 :23.800, £:23.400. +:23.800. H:23.400
JL672 000 :24.800, A:25.400, %:25.300, £:23 400 H:25.400
JL674 .000 K
RECPE) =R EECRE) % |_JL605 .000 48%
JL607 200 | 45%
JL609 1.900 | 51%
JL611 1.900 | 51%
JL613 22500 | 49%
JL615 22.500
RIBF JL606 .900 51%
JL608 1200 | 48%
JL610 100 | 52%
JL612 800 | 44% 26,300, % 25.300, T
JL614 4.800 | 44% | A:26.300, %:25.300, L 22 500, B
JL616 23400 | 47%
RECPE)=ER ERECRE) % |_JL623 20,000 52%
JL625 23800 | 43%
JL627 23900 | 43%
JL629 23000 | 45%
JL631 23000 | 45%
JL633 22500 | 46%
JL637 22100 | 47%
JL639 22.900 | 45%
AR JL622 23.700 43%
JL624 24400 | 42%
JL626 21,300 | 49%
JL628 20600 | 51%
JL630 23000 | 45%
JL632 3.000 | 45%
JL634 4000 | 43% | H:24. 0!
JL638 1.300 | 49% |A:22.000. %:24.700. B:23.500
EACES RN KBR (7+53) % | JL2301 0.800 44%
JL2305 9.300 52%
JL2309 800 | 44% |H:11.300
(AT JL2302 .800 44% | £:11.300
JL2306 800 | 44%
JL2310 500 | 25% |£:13.000
B (PED =L (31 T3 & 2 (PER) 56| JL3103 26.900 37% 128,600, B
JL3105 22900 | 46% 600 =]
JL3107 4.900 | 65% 700, =]
JL3117 1.900 | 72% 800, =]
FLIR (BT F8%) $|_JL3100 .000 67%
JL3106 1900 | 65% H
JL3114 000 | 65%
JL3118 000 | 67%
IR (FFR)=LS L% JL3403 .400 63%
ALBE (37 28) 85| J13406 400 | 63% [ A:22.700.
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JL505 20,600 : 1
JL507 900 | 37% | H:24.
JL509 .900 | 37% | H:24.200. £:26.000, £
JL511 600 | 38% | :23.900. 26,000, £:26.000, B
JL513 200 | 50% | H:23.400. £:19.500, £:25.500.
JL515 600 | 51% | H:24.
JL517 100 | 53% | H:23600. £:23.600, £
JL519 100 | 53% 523600, 23,600, £:23.200, B
JL521 200 | 50% |A: 00
JL523 200 | 50% |E 00,
JL525 900 | 48% 00,
JL527 20.800 | 46% | %:25300. +:1 00
JL529 18.600 | 51% [A:19.500. ﬁu 00,
JL531 19.400 | 49%
JL599 24800 | 35%
ALIR (7 F %) 6 [_JL500 20.400 47%
JL502 22000 | 42% |%:
JL504 20.100 7% [A:
JL506 20.100 CE
JL508 18.600 1% |A:
JL510 18.100 3% A
JL512 20.100 CE
JL514 20.500 B
JL516 20.500 B 00,
JL518 20,800 A -27.000. :24.900. F:22.200, H:25.200
JL520 22,000 %:22.100, 7K:22.100, £:23.700. .
JL522 21.900 A
JL524 21,300
JL526 20.300
JL528 20.200
JL530 9.500 E
JL598 3.900
FERCRE) =4 GRH) | FRCAE) R |_JLoo1 7.400
JL993 7.400 E
JL903 29.800
JL905 29,800 t:31 :
JL907 29,800 400, H:26.500
JL909 28.700 600, £:30.600. H:27.100
JL913 28.200 600, £:30.600. H:27.100
JL915 7.700 100
JL917 .000
JL919 .000
JL921 900 .
JL923 700 .000. 7K:15.000. £:19.100. H:19.100
JL925 000 700 A:17.700. £:26.200. £:19.100. H:19.100
SEB(ARER) & |_JL900 .800 H:14.900
JL902 400 F:14.300. H:16.400
JL994 .900 A:13.200. B:15.900
JL904 .900 A:13.200. B:15.900
JL906 .900 A:14.800. H:16.900
JL908 700 H:19.100
JL910 7.700 2 H:29.500
JL912 7.700 2 H:30.600
JLo14 7.700 2 H:30.600
JL916 29,800 6% H:30.600
JLo18 28200 | 39% H:30.600
JL920 23100 | 50%
JL922 22100 | 53% H:23.400
KR (FFH) =4L0R (B Fi%)| KR (FFH R |_JL2001 25.400 46%
JL2005 25400 | 46%
JL2007 400 | 48%
JL2009 700 | 69%
JL2019 700 | 69%
FLIR (B F8%) 5 |_JL2000 .200 70%
JL2006 1200 | 70%
JL2008 700 | 7
JL2010 25.400 7
JL2016 25.400 7
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JL2503 400 2 700, B:14.700
JL2505 400 | 76% |4 14.700
ALIR (BT ) % [_uL2502 400 | 76% 700, B:14,700
JL2504 400 | 74% :
JL2506 100 | 55%
RR(CRE)=k#m5] FRCPE) % |_JL565 .800
JL567 7.800
JL569 200
ESTIES JL562 ,200
JL564 200
JL566 200
R CRE)=RJI RRCRE) % |_JL551 20,900
JL553 21,700
JL555 20,200 B
JL557 20,200 . )\ 20,300, & 21. 700 H:21, 700
e JL552 21,000 ,300, H:21,200
JL554 20,300 800, 7K:19.000. :19,000, £:20.400. H:23,900
JL556 100 500, £:20,600, H:27,
JL558 100 500, £:20,600, B:27.600
R CHE) =5 R (FE) % [ _JL585 ,300 700, K:21,100, £:24,600, £:25.200
JL587 800 121,200, +:21,600, H:21.400
JL589 300 123,000, £:20,000. H:23.900
B JL584 ,900 100, H:20,500
JL586 20,700 1800, £:20,800. H:25,600
JL588 3,000
RRCPE)=8 FRCRE) % |_JL453 7,200 A
JL455 7,200 E
JL459 7,200 3 F.12.100. B:12.100
JL461 ,600 3 . £:12,200, B:12.200
JL463 800 | 44% | +:12,100, H:12,100
JL465 800 H:12,100
S JL452 ,600 £:12,200, H:12,200
JL454 700 H:12,000
JL456 7.700 512,000
JL460 400 113,300, H:13,300
JL462 700 1300, H:12.300
JL464 700 | 45% 1300, H:12.300
RRECAB)=BH ERCAE) S [ _JL4o1 X 43% ,800
JL493 200 | _47% .000. H:19,600
JL495 700 | 48% 00. H:20,000
JL497 400 | 40% 800, H:21,200
JL499 700 | 34% 800, H:21,200
St JL490 20,600 43% ,300
JL492 400 | 40% 100
JL494 300 | 49% 700, H:19.800
JL496 900 | 39% 600, H:20,600
JL498 700 | 34% 118,600, H:21,800
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JL672 24000 | 41%
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FRCRE)=RE HRCRE) % |_JL605 22.700 49% |A:
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RIBF JL606 1.700 B
JL608 22.700 9% |-
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JL612 24400 | 45%
JL614 24400 | 45% |A: :22.900,
JL616 22800 | 49% |A: 21,900,
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JL625 23.300 A: 00, H:21.400
JL627 23.300 ZE :24.800. H:22.000
JL629 22.600 ZE :22.000
JL631 22.600 A: :22.000
JL633 22.000 p :22.200. £:22.700
JL637 22.000 7 :
JL639 22.400 7% |A: :22.900.
AR JL622 23.300 4% | R 00,
JL624 24100 | 42% [H: 00,
JL626 21.000 | 50% [H: 00,
JL628 20500 | 51% [A: 00,
JL630 23000 | 45% [H: 00,
JL632 000 | 45% |A: 00.
JL634 900 | 43% |A: 00
JL638 000 | 50% |A:
EACES RN KBR (7+53) % | JL2301 .800 44%
JL2305 9.300 52%
JL2309 800 | 44% [H:11.300
PATIES JL2302 .800 44% | +:11.300
JL2306 800 | 44%
JL2310 500 | 25% [£:13.000
B (PED =L (31 T3 & 2 (PER) 56| JL3103 26.900 37% |A:
JL3105 22900 | 4 A
JL3107 400 |6
JL3117 400 | 7 p3
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JL3114 .000
JL3118 .000
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JL505 20,600
JL507 .900
JL509 .900
JL511 600
JL513 .200
JL515 600
JL517 100
JL519 100
JL521 700
JL523 700
JL525 .900
JL527 20,800
JL529 18.600
JL531 19.400
JL599 24,800
ALIR (7 F %) 6 [_JL500 20,000
JL502 22,000
JL504 20.100
JL506 20.100
JL508 18.600
JL510 18.100 300, 521100
JL512 20.100 +:19.300. H:22.700
JL514 20,500 : ).300. H:25.900
JL516 20,500 20,800, & 22 zz 2,200, £:19.300.
JL518 20.300 :20.400, A:20.800, %:22.500.
JL520 22,000
JL522 21.900 00. B
JL524 21.300 :19.800, H:26.100
JL526 20.300
JL528 20.200
JL530 9.500
JL598 3.900
FERCRE) =4 GRH) | FRCAE) R |_JLoo1 7.400
JL993 7.400
JL903 29.800
JL905 29,800
JL907 29,800
JL909 28.700
JL913 28.200
JL915 7.700
JL917 .000
JL919 .000
JL921 .900
JL923 000 17700, 17,700, 19,100, H19.100
JL925 000 :17.700, £:26.200. £:19.100. H:19.100
SR (BRER) S | JL900 .800 .900
JL902 400 :14.300, :14.300. H:16.400
JL994 .900 F:13.200. X:13
JL904 .900 A:13.200. K
JL906 .900 A:14.800. K14
JL908 700 100, B:19
JL910 7.700 A 28,000, H
JL912 7.700 A 28,000, H
JLo14 7.700 A 28,000, H
JL916 29.800 6% 27.700. H:30.
JL918 28200 | 39% 27.100.
JL920 23100 | 50% 25,900
JL922 22100 | 53% |H:23.400
KR (=40 (F )| KR (A% [JL2001 25400 | 46% |A:28.400, £:30,300, £:31.700. H:19.400
JL2005 25400 | 46%
JL2007 400 | 48%
JL2009 700 | 69%
JL2019 700 | 69%
FLIR (B F8%) 5 |_JL2000 .200 70%
JL2006 1200 | 70%
JL2008 700 | 7
JL2010 25.400 2
JL2016 25.400 2
KR (B8E) =ALIR (BT F%)| ABR(BSFE) & | JL2501 .900 A
JL2503 400 2
JL2505 400 | 76%
AL (BT F ) 5 [_UL2502 400 | 76%
JL2504 400 | 74% :
JL2506 100 | 55% 400, £:19.000, H:21:600
RR(CRE)=k#m5] FRCPE) % |_JL565 .800 .300, £:20,300, £:20,200, +:24,700, H:19,800
JL567 7.800 1300, #:20,300, %:21,200,
JL569 200
ESTIES JL562 ,200
JL564 200
JL566 200
R CRE)=RJI RRCRE) % |_JL551 20,900
JL553 21,700
JL555 20,200
JL557 20,200
JEIIES JL552 21,000
JL554 20,300
JL556 100
JL558 100
RRECAR)=HIL RECPE)$ | JL573 700 700, J¢:17.600, 219,300, F 25,000, FI19,900
JL575 .100 800, 7k:20,800., 7:20,800, H:22,200
JL577 ,800 800, :20,400, %:21,100, £
JL579 500 500, #:20,100,
L% JL570 600 100, #:21,700,
JL572 ,700 200, K:20, 700
JL574 700 20,200,
JL576 700 200, K 18700
RRCRE)=EE FRCPE) % |_JL585
JL587
JL589
B JL584
JL586
JL588
RERCRE)=8 RRCRE) % |_JL453
JL455
JL459
JL461
JL463
JL465
[EES JL452
JL454
JL456
JL460
JL462
JL464
RRECAB)=BA ERCAE) S [_JL4o1
JL493
JL495
JL497
JL499
BRI JL490
JL492 . :
JL494 300 | 49% 100, H:19.200
JL496 900 | 39% 600, H:20,600
JL498 700 | 34% 18,800, H:22.800
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RRCRE)=K5 RRE(PE) % |_JL661 23.400
JL663 23.400
JL665 23,000
JL667 22.700 123,
JL669 22.800 :23.600, £:22.900. B
JL671 22.800 :24.000, +:22.900. H:23.300
K55 JL662 20.000 20,500, £:21.700
JL664 22.500
JL668 22.800
JL670 22.200
JL672 24.100
JL674 23,000
FRCRE)=RE RRE(PE) % |_JL605 22.700
JL607 800
JL609 600
JL611 600
JL613 1800
JL615 800
RIBF JL606 1400
JL608 22.700
JL610 21.000 .
JL612 24400 | 45% |2:24.900. £:22.100, H:24.100
JL614 24400 | 45% |2:24.900. £:22.100, H:24.100
JL616 22800 | 49%
RECPE)=ER ERECRE) % |_JL623 20,000 52% [
JL625 23.300 123600, +:23.600. B
JL627 23.300 123600, +:23.600. H:21.100
JL629 22.600 :21.900
JL631 22.600 :21.900
JL633 22.200 00. B
JL637 22.000 7 00. A
JL639 22.400 7 00. A
AR JL622 23.300 4 00,
JL624 24100 | 42t 00, .
JL626 21.000 | 50% 00. B
JL628 20500 | 51% |&: 00. B
JL630 23000 | 45% |H:23. 00, £:2:
JL632 000 | 45% | B
JL634 900 | 43% N
JL638 000 | 50% |%:24.400. H:23.200
EACES RN KBR (7+53) % | JL2301 .800 44%
JL2305 9.300 52%
JL2309 800 | 44% |H:11.700
(AT JL2302 .800 44% | £:13.200
JL2306 800 | 44%
JL2310 500 | 25% |4
B (PED =L (31 T3 & 2 (PER) 56| JL3103 25.400
JL3105 1400
JL3107 400
JL3117 400
FLIR (BT F8%) $|_JL3100 .000
JL3106 .900
JL3114 .000
JL3118 .000
IR (FFR)=LS L% JL3403 .200
0% (3rF8) $| JL3406 .400
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[ Jl627 300
[ JL629 1300
JL631 1300
[ JL633 .900
JL637 28.300
JL639 31,300
A% | _JL622 24,300
[ Jl624 25.400
[ JL626 25.400
[ JL628 22.700
JL630 25.400
JL 26.200
JL 26.200
JL 22.100
RRCAB)=-ERS RRCAE) S [ JL 30.100
JL 30.100
JL 19.400
JL 22.600
[ JL6ag 22,000
[ JL651 20.200
[ JL653 30.100
JL655 30.100
ERBR JL .900
JL .900
JL 900
JL 400
[ JL .900
[ JL650 900
[ JL652 400
654 400
RIR () =e)il Kl (FFH) % | JL: 28.500
B IS L: 14.400
KB (BFH=H 7% RER(FFH 5 [ L. 22500
L. 25,000
L 25,000
EHE L2152 20,000
[ JL2154 20,000
L2158 22,500
KR (D =MlE KR (7 % | JL2201 .200
["JL2203 600
["JL2205 600
["JL2207 000
["JL2209 7.000
2211 400
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L2215 400
WEs [ JL2200 700
["JL2202 900
[JL2204 700
[JL2206 700
2208 100
L2210 .800
L2212 20,000
L2214 800
KR (FH =318 KR () 5 | JL2241 .000
[JL2243 000
[JL2247 000
L2251 000
Fask [ JL2240 700
[JL2244 200
[ JL2246 300
L2250 600
KR (5 =t KR () % | JL2301 .700
["JL2305 700
L2309 700
PAITES | JL2302 ,700
[JL2306 700
L2310 700
KR (B FH =K% KR () % | JL2361 .100
[JL2365 100
L2367 000
K5 [ JL2362 00
364 00
366 ,100
KR (5 =Ri& KR () % L2371 .100
73 100
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L2377 ,500
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L237 |

L237 100
KR (5 =REX KR (5 $ | _JL238: .000
[JL2385 ,000
L2389 ,000
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[JL2386 ,000
L2392 ,000
KR (5 =25 KR (7 % L2431 .000
433 700
[JL2437 000
[JL3925 000
L. 000
L. 000
=R 000
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L. 100
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21300 | 9500 9.500
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AR 55 300 | 71% |A: 100, 2,100
55 000 | 69% |k 000,
55 000 | 69% |k 000,
55 600 | 7 I3
L 55 300 | 7 P 100,
L 55 300 | 7 12,700, 7K:12,100, A:12,100,,
L 55 ,300 7 :X:12.700, 7K:12,100, A:12,100.
L 55 600 | 7 ,900, 11,100, 7K:11,100,

JAL



TR—N\—%FGIHEER(OA23~30BEFEN)

SEE®AE : 2020/07/17 ~

9/23—:{%0
A%k
= | BET
B B51% W&
R CRE) =Xk (Bf) | RR(PBE)F|[_J 10.200 60% 0.600, H:9.200
400 79% 700, £:6.600. H:6.100
900 65% 0,900, +:9.900, H:9.900
KR (B7) % |_J 500 71% 400
6.500 75% 0. H:7.600
10.900 | 58% [£:11.300. £:9.200. H:11.100
HECRE) =18/ RRCPAE) [ J 8.200 80% 7k:10.
6.600 | 60% |H:11.200, i
6400 | 61% [216.700, K1
7600 | 58% |4:17.900, 7K:17.900. %:
7.600 | 58% | 4:17.900, 7K:17.90¢ 600, £
900 | 60% | H:16.600. A:16 600, £
600 | 65% [9¢:15.300, K:15 700, £
200 | 71% [2:12.900, 7K:14 600, £
200 | 71% [2:12.300, K14 500, £
100 | 71% [ 212300, JK:14 100, £
100 | 69% [J:14.100, JK:16 200,
300 | 66% [2:14.200, K:17 400,
500 | 63% [H:14.600, A:12 200, £
300 | 63% [%¢:15.900, K16 200, £:1
300 | 63% [2:15.900, K18
200 | 59% |k
7200 | 59% [&:
EER 800 | 65% [k
400 | 63% |J
800 | 62% [k
700 | 60% [
500 | 63% X
400 | 68% [k
300 | 68% [k
300 | 66% [A:
200 | 71% [k
300 | 68% [k
700 | 67% [k
400 | 63% [k
600 | 63% X
600 | 63% X
600 | 63% [k
300 | 63% [k
500 | 73% |k
FRCRE)=; RRCAE) & [ J 9.300 80% .300
300 | 78% 300
300 | 76% 300
800 | 75% 800
300 | 74% 300
300 | 76% 800
800 | 77% 300
300 | 78% 800
300 80% 300
000 83%
000 85%
300 80% |%:12.300. £:12.800
.300 80% | %:12.300. £:12.800
S (BRER) 56 500 82% | H:8.200. %:8.200. £:8.200
500 4
.000
.000
.000
000 |
300 8% | H:13.300
800 | 77% |H:13.800
800 | 75% |H:14.300
300 | 74% | H:14.300
300 | 74% | H:15.300
300 | 76% |H:14.300
300 | 76% |H:13.300
KR (FFH) =4L0% B F k)| KIR (D % .800 67% :17.500, 3:19.400, H:14.000
800 | 67% |%:16.300. T:18.500, B:15.400
800 | 69% |%:15.300. F:17.500, H:14.400
800 | 77% |£:12.500. H:12.500
800 79% |4
FLIR (BT %) 5 55 600 88%
55 800 79% 500, B
55 300 80% ,000, H:11,000
55 16.900 4 600, £:14,300, B:19,800
55 16.900 4 +14,600, 14,300, H:19,800
BRI T B 55 19,200 7 X:17,400, £:17,400
55 9,300 4
FLBL (BT ) 34 55 9,300 4
55 200 7% [ AK:17.400, £:17,400
WA CHE) =R | RRCAE) 5 | J 55 500 4% 7K 11,600,
55 300 | 68% |
55 200 | 70% [k
55 200 | 70% [k
55 300 | 75% [Y
55 300 | 75% [k
RIGSE 55 200 70% | K:
55 200 | 70% [k
55 300 | 77% [k
55 900 | 66% [ikK:
55 900 | 66% [t
55 600 | 76% |7
RRCAE)-MER | RmCAE) 3 | J 55 7,800 | 8%
55 9,100 78%
55 100 | 76%
55 100 | 74%
55 100 | 76%
55 700 | 70%
55 9,600 77%
55 600 | 75%
AR 55 200 | 68%
55 900 | 67%
55 900 | 67%
55 9,100 78%
L 55 10,600 75% :10,200, 7K:10,100, :10,200, H:
L 55 13,200 68% [A:12,700, K:16,000, A:12,700, 900, B:14,900
L 55 13,200 68% [:X:12,700, K:16,000, A:12,700, 14,900, H:14.900
L 55 600 77% [X:9,100. 7K:9.100
RR(DE)-BRE | Rm(HE) 5 |_JL 55 400 88% | 1:0500
L 55 700 80% 400, £:9.700
L 55 200 79% ,000. £:10.200
L 55 10300 | 77%
55 700 80%
55 700 80%
55 700 80%
55 700 80%
BERER% L 55 500 83%
L 55 10,000 | 77% |4
L 55 8,700 80% |7
L 55 9,200 79% |K:12.
L 55 10,000 | 77% [7K:12,100. H:11.000
55 8,700 80% |7k:13,400, H:9.700
55 10500 | 76% |7K:10,800. %:13,600, H:13.600
55 9,200 79% |7k:10,900, £:10,200, H:9.700
IR FHTFR)-ES RE% 55 14,600 72% |:X:9,800. 7K:9,800, A:15,100, £:16,000, £:16,000
#LOF (3 F#8) %] JL3406 | 55 9,800 81% |£:15.100. H:15,500




[R——5%BEER(10R1~8AEBED)

EEERE 2020/07/17 ~
10/1-8
A—N—%F
XA
wam | 200 s
R CRE) =Xk (Bf) | RR(PBE)F|[_J 10.200 60% 00, H:9.200
400 79% 0. £:6.600, H:6.100
.900 65% 0.900. £:9.900. H:9.900
KR (BEE) % [ J .500 7%
6.500 75% 600, H:7.600
10.900 | 58% |2:11.300. £:9.200, H:11.100
R (FE) =18k RRCEE) S [ J 200 80% 7,500, 7K:7.500, &:1
500 | 75% | A:11.200. A:12.500.
800 | 60% |£:17.800. £:17.800.
000 | 57%
000 | 57%
000 | 59%
400 | 63%
000 | 69%
1900 | 69%
500 | 70%
200 | 66%
300 | 66%
600 | 63%
000 | 62%
000 | 62%
900 | 57%
7900 | 57%
EER 500 | 63%
400 | 63%
900 | 62%
300 | 59%
200 | 61%
600 | 68% [
600 | 68% |Xk:
1900 | 69% k¢
400 | 68% |-
100 | 66% |&:
500 | 65% |&:
500 &
500
500 .
500 1400, £:13.000. ¢
700 | 1400, £:13.000.
500 3% 1000, 7K:11.000. %:17.800. £:10.300. H:16.500
FRCRE)=; RRCAE) & [ J .400 78% .400
400 | 78% 1900
400 | 76% 400
900 | 7 900
400 | 7 .400
100 | 7 400
.900 900
.400 400
.400 :11.400
.400 900
.900
400
.400
FHL IR 3 400
.400
400
400
400
.400
1400
.900
400
900
400
.400
.400
KR (FFH) =4L0% B F k)| KIR (D % -ggg
.000
3.000
2.000
FLIR (BT %) 5 55 8.800
55 000
55 500
55 100 :
55 100 A:
B (FIE) =R HECRE) % |_J 55 9,700 77% | A:10,200, £:11,400.,
55 700 67% 115,100, £:15,600,
55 600 65% | A:15.100, #:15.200,
55 ,300 63% | /:14.100, X:13,600,
55 ,300 63% | A:14.100, X:13,600,
55 400 66% :13,600, 7k:13,900.
55 .200 64% | 7:15,600, 7K:14,600,
55 600 65% | /:15,800, #:15,100,
BEARFE 55 100 66% | 5:14,800, A:13,600,
55 500 63% | A:15,400, 15,800,
55 800 | 65% |A:
55 600 | 68% |A: 200
L 55 100 | 66% A 700, H:15,800
L 55 600 68% [F:14,100, £:16.800, F: :16,800
L 55 600 65% [F:16.100, #:16,800, +:15,100. H:16.800
L 55 100 66% [ 2X:13,600, 7K:13.600
RR(PE)-BRE | Rm(HE) 5 |_JL 55 5900 | 87% [£:7.100,
L 55 900 [ 75% [:11,900, %:13,100, £:14.400, H:10,400
L 55 900 | 7 :14,400, £:14,900, +:14.400, B:11,800
L 55 100 | 7 :12,200, £:13,100, F:12,200, H:11,800
55 400 | 7 £:13,600
55 400 | 7 600
55 .400 7 X:14,700, :14.600, H:14,600
55 .400 7 700, £:14,600, H:14,600
BERER L 55 9,000 8 8,600
L 55 600 | 7 700
L 55 .400 7 2,100, %:9,200
L 55 900 | 7 :
55 600 | 7 &
55 400 | 7 ok
55 600 | 7 &
55 900 | 7 k:
KR (=38 KR (B % 55 9700 | 71% [EE10,
55 9,700 71% | A:10200, £ H:10,800
55 600 | 68% |:11,700, £:10,800, H:9.700
55 200 | 66% |A:11. 12,600, :11,100
HinR 55 ,100 60% | AR+:14,000, H:12.900
55 000 70% [A X:9.300, £ H:11.200
55 8,900 73% [A:9,600. & H:10,400
55 7.400 78% [A:8,100, £:9.400, H:8.900
KR (B FD =Faill KR (B % 55 9700 | 50%
55 7.900 59%
55 9,700 50% | +:0.400. H:10400
PIIES 55 9,200 53% |+:10.700
55 9,700 50%
55 10.600 | 45% |+£:9.400
IR FHTFR)-ES LE% L3403 | 55 11,800 77% |H:15.600, %:16,500, 1:16.500, H:15,600
4L (3 F#%) %{ JL3406 [ 55 11,800 | 77% |A:15600, £:15,600. £:15.600, H:16.600
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10/9-16
A—N—%F
= | BET
B B51% W&
R CRE) =Xk (Bf) | RR(PBE)F|[_J 10.200 60% 0.600, H:9.200
400 79% 700, £:6.600, H:6.100
.900 65% 0.900. £:9.900. H:9.900
KR (B7) % |_J 500 71% 400
6.500 75% 600, H:7.600
10.900 | 58% |2:11.300. £:9.200, H:11.100
EEAC ] HR(EE) | _J .200 80% £:12.300. £:16.
500 | 75% | A:11.200. A:12.500. 300,
6500 | 61% |H:14.500. £:18,500, £:19.900. H
7700 | 58% | H:14.500, £:20.000, £:19.900. H:11.800
7700 | 58% |H:14.500. £:20.000, £:19.900. H
700 | 60% |A: 0 000, .
700 | 65% |A: 0 900. H
300 | 71% |A: 0 400, H
300 | 71% [A: 0 400, H
300 | 71% |A: 0 400, H
200 | 68% |A: 0 400. H
300 | 66% |A: 0 300, £
700 | 65% |A: 0
400 | 63% |A: 00, B
400 | 63% |A: 00, £
300 | 59% |A: 5.000, £
7300 | 59% [A: 5,000, £:14.
EER 900 | 64% |A: 5
400 | 63% |A:
000 | 62% |A:
800 | 60% [A:
600 | 63% |2
100 | 69% |A:
100 | 69% |A:
300 | 71% |A:
300 | 71% |A:
400 | 68% |A:
800 | 67% |A:
500 | 63% ¢
700 | 63% |A:
700 | 63% |A:
700 | 63% |A:
300 | 63% [A:
500 | 73% [ 0.300. H:13.500
FRCRE)=; RRCAE) & [ J .400 78%
400 | 78%
400 | 76%
900 | 7
400 | 7
100 | 7
900 | 7
400 | 76%
400 | 78%
.400 80%
.900 81%
400 80%
.400 80%
FHL IR 3 400 | 80%
.400 80%
400 80% | H:9.900
400 82% | H:9.900
400 82% .900
400 | 78% .900
400 | 76% .400
900 | 74% .900
400 | 73% 400
900 | 72% .900
1400 | 73% 400
400 | 76% .900
400 | 78% 400
KR (FFH) =4L0% B F k)| KIR (D % .300 63% 700, +:20.800, H:13.100
7400 | 63% |%:17.900. £:20.100. H:14.700
6.400 | 65% |%:16.900, £:19.100. H:13.700
3000 | 72% [+:14.700. H:14.700
2000 | 75% 000, %:13.000. £:14.700, H:14.700
FLIR (BT %) 5 55 7.800 83%
55 .000 | 75% E ’
55 500 | 76% 700, B:11,900
55 600 |61 ,300, £:16,000, B:19,100
55 600 |61 300, £:16,000,
R CRE)=BEA HRCRm) % |_J 55 9,700 77 200, 11,400,
55 700 | 67% |4
55 600 | 65%
55 600 | 68% [ A
55 600 68% | /:14.100, 7:14,600,
55 600 68% [ F:15.300, £:16.300,
55 600 | 63% 100, 7K:14,600, 7:
55 100 64% [F:15:800, X:14.100, 7
BEARFE 55 100 66% | 5:14,800, A:13,600,
55 800 58% | /:15,800, X:15,600,
55 800 65% | A:13,600, £:15,500,
55 100 66% [7k:13,500, A:13.600,
L 55 100 66% ,900,, 7K:13,900,
L 55 600 68% 100, 16,600, F:
L 55 600 65% [F:16.100, £:16.600, F:
L 55 600 68% | F:16,300, A:14,100,
RR(PE)-BRE | Rm(HE) 5 |_JL 55 5900 | 87% |/K:5400,
L 55 900 | 75% 200, £:9,200, £ 5,400, H:10,400
L 55 ,900 71% :9,700, £:9.700, &: 4,600, H:11,800
L 55 400 | 68% 1900, K. 400, H:11,000
55 1400 | 7 B
55 400 | 7 B
55 600 | 7 x
55 600 | 7
BERER L 55 9,000 8 £:10.100
L 55 400 7. K:11,600, £:13,700
L 55 400 | 7 £:13,700
L 55 900 | 7 £:14,200
55 800 | 7 :16,800, 7K:13.400, %:14,100, £:12.100, H:11,500
55 400 7 H:16.100, £:14,900, 000
55 ,300 6 2X:13,900, 7K:13,500, 7:11.600, %:15.700, £:13,700, H:13.400
55 1,900 7 H:14,900, £:15,100, B:16.100
KR (=38 KR (B % 55 9700 | 71% |+H:10,800
55 9,700 7 :10,200, + B:10,800
55 9,500 7 A:10,600. £:11,700, £:10,800. H:9,700
55 10400 | 69% [A:11.900, % H:12,600. £:11.100
HinR 55 13,100 60% . 7R:11,300, £:14,000, H:12,900
55 8,600 74% 300, :8,000, % H:11,200, +:10,000
55 7.500 77% 900, £ H:10.400
55 6.000 82% 400, £:9.400, H:8.900
KR (B FD =Faill KR (B % 55 9700 | 50%
55 7.900 59%
55 9,700 50% | +:0.400. H:10400
PIIES 55 9,200 53% |+:10.700
55 9,700 50%
55 10.600 | 45% |+£:9.400
IR FHTFR)-ES LE% L3403 | 55 11,800 77% | H:16.100, £:17,000, +:17,000, H:9,700
4LIF (3 F38) %] JL3406 | 55 11,800 | 77% |A:16.100. £:16,100, £:16,100. H:9,700
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[R—/IR—%BHEEXR(10A17~24BEES)

EEERE 2020/07/17 ~
10/17-24
A—N—%F
= | BET
aa | yny %
R CRE) =Xk (Bf) | RR(PBE)F|[_J 10.200 60% 00, H:9.200
400 79% 0. £:6.600, H:6.100
.900 65% 0.900. £:9.900. H:9.900
KR (BEE) % [ J .500 7%
6.500 75% 600, H:7.600
10.900 | 58% [£:11.300. £:9.200. H:11.100
R (FE) =18k RRCEE) S [ J .200 80% 7,500, 7K:7.500, &:1
500 | 75% | A:11.200. A:12.500.
6500 | 61% [£:17.500, £:1
7700 | 58%
7700 | 58%
700 | 60%
700 | 65%
300 | 71%
300 | 71%
300 | 71%
200 | 68%
400 | 66%
700 | 65%
400 | 63%
400 | 63%
300 | 59%
7.300 | 59%
EER 900 | 64%
400 | 63%
000 | 62%
800 | 60%
600 | 63%
500 | 68%
400 | 68%
300 | 71%
300 | 71%
400 | 68%
800 | 67%
500 | 63%
700 | 63%
700 | 63%
700 | 63%
300 | 63%
500 | 73% . £:16.500. £:10.300. H:15.400
FRCRE)=; RRCAE) & [ J .400 78%
1400 | 78%
400 | 76%
900 | 7
400 | 7
100 | 7
900 | 7
400 | 76%
1400 | 78%
.400 80%
.900 81%
400 80%
.400 80%
FHL IR 3 400 | 80%
.400 80%
400 80% | H:9.900
400 82% | H:9.900
400 82% .900
400 | 78% .900
400 | 76% .400
900 | 74% .900
400 | 73% 400
900 | 72% .900
1400 | 73% 400
400 | 76% .900
400 | 78% 400
KR (FFH) =4L0% B F k)| KIR (D % .300 63% 700, 1:20.800, H:13.100
7400 | 63% [%:17.900, £:20.100. B
6400 | 65% [%:16.900, £:19.100. H:13.700
3000 | 72% [+:14.700. B:14.700
2,000 | 75%
FLIR (BT %) 5 55 7.800 83%
55 .000 | 75% E
55 500 | 76% 700, B:11,900
55 600 |61 300, £:16,000,
55 600 |61 :16,300, 1:16,000,
R CRE)=BEA HRCRm) % |_J 55 9,700 77 A:10,200, £:11,400,
55 700 67% | AK:14,600, £:15,600,
55 600 | 65% 900
55 600 68% 100, 7:14,600, 900, H:14.600
55 600 65% | /:14.100, X:13,600, 900
55 600 68% [ F:14,400, £:14.600, 400
55 100 64% | F:15,600, X:15,600, 100
55 600 65% | /:15,600, #:15,100, 100, H:16,300
BEARFE 55 ,600 68% | H:14,600, 7K:14,100, 300
55 100 | 64% |7K:15.200, A:14,600, 800, H:15,200
55 800 | 65% | A:14,100, A:13,600, 800
55 100 66% [ :X:13,600, 7K:13.500,
L 55 100 66% [ :X:13.900, 7K:13.900,
L 55 600 68% 100, #:16,300, £:14.100, B:16,
L 55 600 65% 100, 16,300, +:15,100. H:16.300
L 55 100 66% [ :X:15,100, 7K:13.600
WA CAE)-ERE | Rm CAE) 3 |_JL 55 5400 | 88% 00, %5900,
L 55 9,200 79% [A:11,900, #:11,900, F:
L 55 9,700 78% 600, 13,900, :14.900, +:14,400
L 55 10,700 76% .800, #:13,100, *.
55 200 79%
55 200 79%
55 200 79% 200
55 200 79% 200
BERER L 55 ,600 81%
L 55 10,700 | 76%
L 55 9,200 79%
L 55 9,700 78%
55 11,700 | 74%
55 9,200 79% |4
55 12,200 | 73% |4
55 9,700 78% |2
KR (=38 KR (B % 55 600 | 62% [ ;
55 600 | 62% |7K%:9.700. A:10.200
55 500 62% [7K7K:9,500, £:10.500, H:13,900
55 000 | 58% |k:10400, £:11,700, H:15400
HinR 55 ,300 57% [7K%:10,600, A:11,300
55 .400 66% [7K7K:8.600. £:9,600
55 400 69% [7K7K:7.500. £:8.100
55 8,900 73% _[7K7K:6.000, £:6.600
RIR () =11l KR () 5% 55 10500 | 46% [KA%:9.700
55 7.900 59%
55 10,500 46% /KR £:9,700. B:11.000
PIIES 55 9,700 50% |/KA%:9,200, £:12,200
55 9,700 50%
55 10.900 44% [/KA:10.600
IR FHTFR)-ES RS L3403 | 55 16,100 69% | 9,100, 7K:11,800, A:11,800, £:17,000, £:17,000
4LIF (3 F38) %] JL3406 | 55 16100 [ 69% [5:11.800, X:9.100, 7k:11.800, H:17.000

JAL



TR—N\—%FGIHEEROA18~22BEFEN)

SEE®AE : 2020/07/17 ~

E7) 9/18 9/19 9/20 9/21 9/22
RS B4 E%]Lﬁﬁ 2—rS—stt| 2—r s~ - s - | 258
i3

AL | El B | &R ERE

RECPE)=XR (5 | R CRA) #

P ACESE N

R A | BRI % L

[EES

RRECPR) =k (H) | RRCAB)F | J

B (ARER) 5 [ JL | 1
| 13400 |
55 ,300 | 13,400
55 300 | 12400
55 .900 | 12,400
55 ,400 | 12,900
55 ,900 | 13,400
L 55 ,400 | 13,400
L 55 ,900 | 14,400
L 55 ,400 | 14,400
L 55 ,400 | 14,400
55 ,400 | 12,400
L 55 ,400 | 11,400
KR (7 =4L0% (B F#%)| RBR (57 %8 | JL. 55 .900 | 28,500
55 ,000 | 16,300
55 ,000 | 15,300
55 ,900 | 14,900
55 ,800 | 10,700
LR (BT F i) 3 55 9,300 | 14,800
55 ,000 | 12,100
55 500 | 11,600 ;
55 ,300 | 15,500 .
55 ,300 | 15,500 .
KR (51 =18/ KR (7 % 55 ,100 | 15,500 X
55 ,100 | 15,000 X
55 ,600 | 13,100 .
BER 55 ,100 | 14,100 .
55 100 | 13,100 .
55 100 | 13,100 .
TRME=HLIR (T F ) fafs 55 .700 | 30,400 A
55 7,700 | 20,200 | 14,300 300 | 15,300
HLIE (BT ax) 34_J 55 4,300 | 17.300 | 11.300 300 | 21.900
55 [_17.700 200
RRCRE)=8% RR(CRE) 55 600
55 200
55 700
55 400
55 400
BRI 55 200
55 200
94 | 55 000
96 | 55 000
L498 | 55 400
RHRCAE) =X BR(PE)$ [ JL661 | 55 300
500
500
000
,000
000
ESE 500
500
600
600
.900 | 10,400 | 300
,600 | 14.500 500




TR—N\—%FGIHEEROA18~22BEFEN)
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) B4 E%]\‘Qi 2=/ S 518 | R—r S~ 8| R—/ S~ #h8 | A/ o1 | R—rS—2k )

RECPE)=Rig RRECRE) | J

RIBF

RRECRE)=ER RECRE) | J

=34

RECRE) =5 RECRE) | J

RRECAR)=ERS R CRE) #

ERBR

KR (25 =H &% KR ()

HEHR
KR (D =MlE KR (57 %
1
1
1
1
| 12
wes | 21
20.100
[ 19.100
[_18.200
| 16.300
| 14,500
| 14,500
| 14,500
KR (=318 KR (5 % [ J | 13.600 |
[ 14,900
[ 14,100
[ 13100
EEES | 18,500
| 14,400
[ 13100
[ 12,100
KB (=t KR () % [ ¢ Jgg
.5
L: |_9.700
L [ JL2302 | 65 |_9.200
| JL2306 | 55
L2310 | 55
KR (B FH =K% KR (7 % _19
[ 1
K55 8,900 [ 10.400
9,800 [ 14.600
L: [ o 9,800 [ 13,600
KR (5 =Ri& KR (5 % [ J | 15,300 [ 10.200 | 10,900
[ 15300 | 10200 [ 10.900
[ 12400 | 10300 [ 12,400
| 10200 | 11.200 | 13,300 | 13.300
RIEF [ 10700 | 9.900 | 10,200 | 10.200
| 10700 | 9,900 | 10.200 | 10.200
9700 | 9,900 | 15,100 | 17.300
8,800 | 10,500 | 15.100 | 18.200
KR () =ERS KR (75) 13,700 | 10,700 | 10,900 | 10.900
14,500 | 10,700 | 10,900 | 10,900
14,500 | 10,700 900 | 10900
800 | 12800
800 | 12.800
,800 | 12,800
800 | 12800
ERBR 900 | 10,900
900 | 10900
900 | 13
900 | 13
400 [ 1
800 | 1
800 | 1
IR FFR)=lE wes 700 | 1
200 | 1
300 | 1
300
700
HLIR (B F i) 200
300
600
700
700
IR (FFR)=EE EES 00
FLOF (57T 5% ) ) 100
BRE=LE [EES 900
A 3,600 |
[ .900 300
20,700 700 | 25.400




ISR BHIEER (VAR EBES)

SEE®AE : 2020/07/17 ~

o 9/30
& @ | mAM TEF RIEEE
B | ERE | HI% E
T CHE) -AMR (BATE) | BUR CRIE) % |_JL221 | 7' 10.000 | 61% 0.300. H:8.900
[JL225 | 7' 100 80% 400, £:6.300, H:5.800
1229 | 7 600 67% |2:10.600. £:9.600. H:9.600
KR (B7) % |_JL220 | 7 200 72% 100
[JL224 | 7' 6.200 76% 400, £:6.300. H:7.400
1228 | 7 10.600 | 59% [£:11.100. £:9.000, H:10.900
HECRE) =18/ FRCPE)F [ _JL303 | 7 .100 81% :10,
[JL305 | 7 .900 76%
[JL307 | 7 100 | 66%
1309 | 7 100 | 66%
L 7 100 | 66%
L 7 600 | 70%
L 7 600 | 75%
L 7 600 | 75%
1319 | 7 600 | 75%
321 | 7 600 | 75%
[JL323 | 7' 500 | 70%
1325 | 7 500 | 70%
327 | 7 800 | 69%
[JL329 | 7' 600 | 65%
L331 | 7 600 | 65%
[JL333 | 7' 600 | 60%
1335 | 7 600 | 60% :15.600
EmE®E | _JL300 [ 7 100 | 69%
[JL302 | 7 100 | 69%
[JL304 | 7' 100 | 69%
[JL306 | 7 900 | 6 :10.600
L308 | 7 900 | 6 00
L 7 300 | 7 00, B:11
L 7 300 | 7 00. H
L 7 600 |75 00, H
L 7 100 |74 00, H
L 7 200 | 71 00, H
1320 | 7 200 | 71 00, B
[JL322 | 7' 200 | 71 00, B
1324 | 7 400 | 66% 00, B
[JL326 | 7' 400 | 66% 00, A1
1328 | 7 800 | 65% 00
1330 | 7 800 | 65% 00
332 | 7 1.000 | 74% X . £:15.600. £:9.800, H:13.100
FRCRE)=; FRCRE)F [ _JL01 | 7 9.200 80% .200
[ JL993 | 7 200 | 78% 200
[JL903 | 7 200 | 76% .200
[JL905 | 7 700 | 75% .700
[JL907 | 7 1200 | 74% .200
L909 | 7 200 | 76% .700
L913 | 7 700 | 77% .200
L915 | 7 200 | 78% 400
L917 | 7 9.200 80% 200
L919 | 7 7.900 83%
[JLo21 | 7 .900 87%
[ JL923 | 7 .200 80% |2:12.200. £:12.700
1925 | 7 .200 80% |£:12.200. £:12.700
Sl GV ) 36 |_JL900 | 7 900
[JL902 | 7 7.400
[ JL994 | 7 7.900
[JLo04 | 7 7.900
[JL906 | 7 .900
L908 | 7 900 | ¢
L 7 .200 8% | H:13.200
L 7 700 | 77% |B:13.700
L 7 700 | 75% |H:14.200
L 7 200 | 74% |H:14.200
L 7 200 | 74% |H:15.000
[ JL920 | 7' 200 | 76% |H:14.200
L922 | 7 200 | 76% |H:13.200
RER () =#LI% (BT F 8| AMR (77 3¢ | JL2001 | 7! 200 | 68% |£:16.700. £:18.800. H:13.200
[JL2005 | 7' 200 | 68% |£:15700, £:17.900. H:14.700
[JL2007 | 7' 200 | 70% |£:14.700. £:16.900. H:13.700
[JL2009 | 7' 200 | 78% | £:11.900, H:11.900
L2019 | 7 200 81% 1.900
FLUE (37 T2%) 34_JL2000 | 7' 500 88%
[JL2006 | 7 .700 79% 00, 00
L2008 | 7' 200 81% | 4:8,700, 8,700, £:10.900, H:10,900
[JL2010 | 7 16,300 | 65% 214,000, £:13700, H:19.100
L2016 | 7. 16,300 | 65% 214,000, +:13,700, H:19.100
BRE=HLIR T TE) F S [ JL35 7! 15,400 7 H:14,400, X:14,400, +:16.400, H:16.400
L3515 | 7. 9,200 8:
FLIR (37 T %) 3_JL3510 | 7 9200 | 8
3512 | 7 400 | 7 F:14.400, X:14,400,
HECRA)=R&K BR(FE)$ |_JL605 | 7 800 76 7K:11,500, 400
[ JL607 | 7 900 | 71% |7K:12,700, A:13,100,
[ JL609 | 7 000 73% [X:11,800, 7K:15.300,
L611 | 7 000 73% [ X:11,800, 7K:15.300,
L613 | 7 200 | 75% [ &
L615 | 7 200 | 75% |
RE5% | _JL606 | 7 000 73% |7}
L608 | 7 000 | 73% [t
L 7 1200 | 77% [
L 7 500 | 70% [k:
L 7 500 | 70% [k
L 7 500 | 76% |7k
RRECRE)=REXR RRCPE)F [ JL623 | 7 7,000 83% :6,
[ JL625 | 7 7,400 82% | H:8,400, 7K:9,100, . £:9.500,
L627 | 7 8,200 80% | J:8,600, 7K:8,600, £:9,300, +:9.100, H:9.100
[ JL629 | 7 11,000 | 74% 1300
L631 | 7 10,000 | 76% 300
L633 | 7 12,900 | 69% | 11,800, 7K:14,700, A:11,800, 2:13,100. £:12,000
L637 | 7 600 79% :10,100. 7k:9,100. £:9,300. 00
1639 | 7 500 | 75% |A:
AR | _JL622 | 7 000 | 71% [A
[JL624 | 7 600 | 70% [
[ JL626 | 7 600 70% [7K:16.300, A:11.800, X
[ JL628 | 7 600 79% [:X:8,400, K
L 7 10500 | 75%
L 7 12,000 | 71%
L 7! 12,000 71% [X:11,800, JK:15,500, &:11,800, &:
L 7! 8,600 79% [X:8,100. 7K:8.100
IR (FFR)=EE e JL3403 | 7 15,500 70% :13,700, :X:8,800. 7K:9,300, #:14.600, H:14.200
#LOE (3 F55) %] JL3406 | 7 9,300 82% | A:8.800, X:8,800, %:14,600, H:15.100




TSR GIERER(10A1~8BEESD)

EEERE 2020/07/17 ~
10/1-8
FH =7
=M e | mAm PR 5
BB
R CRE) =Kk (BdE) | RR(PE)F [ JL221 | 7
[JL225 | 7'
1229 | 7
KR (B8#E) % [_JL220 | 7
[JL224 | 7'
1228 | 7
HECRE) =18/ B ()% [ JL303 | 7
[JL305 | 7
[JL307 | 7
1309 | 7
L 7
L 7
L 7
L 7
1319 | 7
321 | 7
[JL323 | 7'
1325 | 7
327 | 7
[JL329 | 7'
L331 | 7
[JL333 | 7' N
1335 | 7 X . B:15.700
EmE®E | _JL300 [ 7 200 | 68%
[JL302 | 7 200 | 68%
[JL304 | 7' 200 | 68%
[JL306 | 7 000 |6 . B:10.700
L308 | 7 000 | 6
L 7 400 | 7
L 7 400 | 7
L 7 700 | 7
L 7 200 | 7
L 7 300 | 7
1320 | 7 300 | 7
[JL322 | 7' 300 | 7
1324 | 7 300 |63
[JL326 | 7' 300 | 63%
1328 | 7 800 | 65%
1330 | 7 800 | 65%
332 | 7 000 | 74%
FRCRE)=; FRCRE)F [ _JL01 | 7 .300 78%
[ JL993 | 7 300 | 78%
[JL903 | 7 300 | 76%
[JL905 | 7 800 | 75%
[JL907 | 7 300 | 74%
L909 | 7 000 | 74%
L913 | 7 800 | 75%
L915 | 7 300 | 76%
L917 | 7 1300 | 78%
L919 | 7 .300 80%
[JLo21 | 7 800 81%
[ JL923 | 7 .300 80%
L925 | 7 .300 80%
S (AR%R) 3¢ |_JL900 | 7 .300 80%
[JL902 | 7 .300 80%
[ JL994 | 7 .300 80% | H:9.700
[JLo04 | 7 300 82% | H:9.800
[JL906 | 7 300 82% 800
L908 | 7 300 | 78% .800
L 7 300 | 76% 300
L 7 800 | 75% 800
L 7 300 | 74% 300
L 7 800 | 73% 800
L 7 300 | 74% 300
[ JL920 | 7' 300 | 76% 800
L922 | 7 300 | 78% 300
RER () =#LI% (BT F 8| AMR (77 3¢ | JL2001 | 7! 400 | 63% .900. £:18.400. £:20.500. H:12.700
[JL2005 | 7' 7400 | 63% 00
[JL2007 | 7'
[JL2009 | 7'
L2019 | 7
LR (37 F %) $4_JL2000 | 7
[JL2006 | 7
[JL2008 | 7
[JL2010 | 7
2016 | 7
R (PAE)=AS R (FE) % |_JLe6l | 7
[ JL663 | 7
[ JL665 | 7
[JL667 | 7
[ JL669 | 7
L671 | 7 X
K55 | _JL662 | 7 A:
[ JL664 | 7 X A:
[JL668 | 7 200 | 70%
L670 | 7 200 | 70% ¢
L672 | 7 000 | 70% [A:
L674 | 7 000 | 70% |A:
RRCRE)=REX RRCPE)F [ JL623 | 7 7,400 82! A:
[_JL625 | 7 9,500 77 5:10.500. 700, £ N
1627 | 7 ,000 7 F:12,200, A:13,100, #:13,300, +:13,900, H:13,300
1629 | 7 ,000 7 A:12,200, :13,100, 13
L631 | 7 ,000 7 A:12,200, :13,100, ¥
1633 | 7 100 69% [A:12,000, K:12,200, A:12,000,
L637 | 7 ,000 71% | AK:13,000, #:13,600, +:12,200, H:13,600
L639 | 7 ,200 71% | 5:12,800, X:12,000, Z:13/
BEA% | _JL622 | 7 200 71% | H:12,800, A:12,000, £:14.
[JL624 | 7 800 | 69% |A:12,000, £:13,700, £
[ JL626 | 7 800 | 69% |A:12,000, #:13,700, £:13,
[ JL628 | 7 000 | 7 F:12,00, £:13500, £
L 7! ,000 7 F:12,200, £:13500, F:12
L 7 000 | 7 B:12,200, £:13,900, £:12,
L 7 000 | 7 F:12,00, £:13,900, £
L 7! ,900 69% [:X:12,200, 7K:12.200
WA CAE)-ERE | Rm CAE) 3 |_JL 7 5300 | 88% 500
L 7 7,400 83% 500
L 7 ,000 80% 0,200, H:7,900
L 7 500 700
[ U649 | 7 500 700
[ JL6s51 | 7 500 700
[ JL653 | 7 500 1,900, %:9,700. H:9,700
L655 | 7 500 11,900, £:9,700, H:9.700
BERBRE L 7 400
L 7 500 :10,800. 7K:9.700
L 7 500 J:10,800. 7K:9.700
L 7 ,000 : :11,300, 7K:10.200
7 500 81% |K:9,
7 500 81% |k
7 ,000 80% _|k:
7 ,000 80% |7K:10,200, H:12.400
KR (B =58 KR (B % 7 700 | 74%
7 600 71% 09,100
7 200 75% |£:8,000, H:9.200
7 700 71% | B:10.700
Hing 7 700 71%
7 ,200 75%
7! 200 75% [ A KoK:7.700
7! 700 80% K 7K:6.200
KR (D =Faill KR (B % 7 400 | 52% [+:9600
7 ,400 62% 800
7 9,400 52% 600, £:8,900, H:9.700
PATIES 7 9,100 53% |JH:8,900, £:9,400
7 9.400 52% 49,600
7 10100 | 48% [£:10500. £:8.900
IR HTFR)=ES LE% L3403 | 7 10,800 79% :15,200. £:16,100. +:16,100, H:15.200
ALOR (3 F#%) % JL3406 | 7 10.800 | 79% |A:15200, %:15,200, £:15.200, H:16.100

JAL



TS5 RBEER(10AI~16BEES)

EEERE 2020/07/17 ~
10/9-16
FH =77
=M e | mAm PR 5
BB B
R CRE) =Kk (BdE) | RR(PE)F [ JL221 | 7 10.000
[JL225 | 7' 100
1229 | 7 600
KR (B8#E) % [_JL220 | 7 .200
[JL224 | 7' 6.200
1228 | 7 10.600
HECRE) =18/ FRCPE)F [ _JL303 | 7 7.700
[JL305 | 7 .000
[JL307 | 7 200
1309 | 7 200
L 7 200
L 7 200
L 7 .700
L 7 700
1319 | 7 700
321 | 7 700
[JL323 | 7' 600
1325 | 7 600
327 | 7 .900
[JL329 | 7' 700
L331 | 7 700
[JL333 | 7' .700
1335 | 7 700
EmE®E | _JL300 [ 7 .200
[JL302 | 7 .200
[JL304 | 7' .200
[JL306 | 7 .000
L308 | 7 .000
L 7 1400
L 7 1400
L 7 700
L 7 .200
L 7 300
1320 | 7 300
[JL322 | 7' 300
1324 | 7 500
[JL326 | 7' 500
1328 | 7 800
1330 | 7 800
332 | 7 .000
FRCRE)=; FRCRE)F [ _JL01 | 7 .300
[ JL993 | 7 .300
[JL903 | 7 1300
[JL905 | 7 800
[JL907 | 7 300
L909 | 7 000
L913 | 7 1800
L915 | 7 300
L917 | 7 .300
L919 | 7 .300
[JLo21 | 7 800
[ JL923 | 7 .300
L925 | 7 .300
Sl GV ) 36 |_JL900 | 7 300
[JL902 | 7 .300
[ JL994 | 7 .300 80% | H:9.700
[JLo04 | 7 300 82% | H:9.800
[JL906 | 7 300 82% 800
L908 | 7 300 | 78% .800
L 7 300 | 76% 300
L 7 800 | 75% 800
L 7 300 | 74% 300
L 7 800 | 73% 800
L 7 300 | 74% 300
[ JL920 | 7' 300 | 76% 800
L922 | 7 300 | 78% 300
RER () =#LI% (BT F 8| AMR (77 3¢ | JL2001 | 7! 700 | 65% 100, £:20.200. H:12.500
[JL2005 | 7' 800 | 64% [£:17.300, £:19.500. H:14.100
[JL2007 | 7' 800 | 67% |£:16.300, £:18.500. H:13.100
[JL2009 | 7' 1400 | 74% 4,100, H:14.100
L2019 | 7 400 | 76%
FLUE (37 T2%) 34_JL2000 | 7' 7.700 84%
[JL2006 | 7 400 | 76%
[JL2008 | 7 900 |77
[JL2010 | 7 000 | 62
2016 | 7 000 |62
RRCRE)=REX RRCPE)F [ JL623 | 7 7,400 82! N
[_JL625 [ 7 9,500 77 5:10.500. 700, £
1627 | 7 ,000 7 A:12,200, :12,500,
1629 | 7 ,000 7 ,200, 12,500,
L631 | 7 ,000 7 ,200, 12,500,
1633 | 7 ,300 6. ,000, 7K:12,200, .
L637 | 7 000 | 71% ,900, £:13,900,
L639 | 7 ,200 71% ,800, X:12,000, .
BEA% | _JL622 | 7 200 71% 600, A:12,000, F:14.
[ JL624 | 7 ,800 69% 600, K:12,000,
[ JL626 | 7 ,800 69% 600, :12,000, X
[ JL628 | 7' 000 | 7 13900, £
L 7 000 | 7 13900, £
L 7 000 | 7 200, £:13,900, £:12;
L 7! ,000 7 ,200, 13,900, F:12, .
L 7! 200 7 ,300, :12,900, £:10,800, H:11,700
WA CAE)-ERE | Rm CAE) 3 |_JL 7 5300 | 88 900
L 7 7,400 83% ,900
L 7 ,000 80% | K:8,500, 7:8,500, £:12,200. H:7,900
L 7 500 81% |H:9,700, £:9500
[JL649 | 7 500 81% | H:9,700, £:9,500
[ JL651 | 7 500 800, £:13.900, H:9.700
[ JL653 | 7 700
L655 | 7 700
BEREBRE L 7 400
L 7 500
L 7 500
L 7 ,000
7 500
7 500
7 ,000
7 ,000
KR (=38 KR (B % 7 700 }
7 600 71% _[H:9.100
7 ,200 75% 1,100, H:9.200
7 400 72% 700, %:12.100, H:10.700
HinR 7 700 71%
7 ,200 75%
7 200 78%
7 5,700 83%
KR (B FD =Faill KR (B % 7 9400 | 5%
7 7.400 62%
7 9,400 52% |$:0,600, +:8,900, H:9.700
PIIES 7 9,100 53% |H:8,900, £:9,400
7 9,400 52% 49,600
7 10,100 | 48% [£:10.500. £:8.900
IR FHTFR)-ES LE% L3403 | 7 10,800 79% :15,700. %:16,600, +:16.600, H:9.300
ALOR (3 F2%) % JL3406 | 7 10800 | 79% |A:15.200, #:15,700, £:15,700, H:9.300

JAL



IS %RBIEER(10A17~24BEED)

EEERE 2020/07/17 ~
10/17-24
FH =7
=M e | mAm PR 5
BB B
R CRE) =Kk (BdE) | RR(PE)F [ JL221 | 7 10.000
[JL225 | 7' 100
1229 | 7 600
KR (B8#E) % [_JL220 | 7 .200
[JL224 | 7' 6.200
1228 | 7 10.600
HECRE) =18/ FRCPE)F [ _JL303 | 7 7.700
[JL305 | 7 .000
[JL307 | 7 200
1309 | 7 200
L 7 200
L 7 700
L 7 .700
L 7 700
1319 | 7 700
321 | 7 700
[JL323 | 7' 600
1325 | 7 600
327 | 7 .900
[JL329 | 7' 700
L331 | 7 700
[JL333 | 7' 700 N
1335 | 7 700 . H:15.700
EmE®E | _JL300 [ 7 .200
[JL302 | 7 .200
[JL304 | 7' .200
[JL306 | 7 .000 _H:10.700
L308 | 7 .000
L 7 1400
L 7 1400
L 7 700
L 7 .200
L 7 300
1320 | 7 300
[JL322 | 7' 300
1324 | 7 500
[JL326 | 7' 500
1328 | 7 800
1330 | 7 800
332 | 7 .000
FRCRE)=; FRCRE)F [ _JL01 | 7 .300
[ JL993 | 7 .300
[JL903 | 7 1300
[JL905 | 7 800
[JL907 | 7 300
L909 | 7 000
L913 | 7 1800
L915 | 7 300
L917 | 7 .300
L919 | 7 .300
[JLo21 | 7 800
[ JL923 | 7 .300
L925 | 7 .300
Sl GV ) 36 |_JL900 | 7 300
[JL902 | 7 .300
[ JL994 | 7 .300 80% | H:9.700
[JLo04 | 7 300 82% | H:9.800
[JL906 | 7 300 82% 800
L908 | 7 300 | 78% .800
L 7 300 | 76% 300
L 7 800 | 75% 800
L 7 300 | 74% 300
L 7 800 | 73% 800
L 7 300 | 74% 300
[ JL920 | 7' 300 | 76% 800
L922 | 7 300 | 78% 300
KR () =AL0R (BT F )| KBR () 3¢ | JL2001 | 7 700 | 65% 100 £:20.200, B:12.500
[JL2005 | 7' .800 | 64% |%:17.300. £:19.500, B:14.100
[JL2007 | 7' 800 | 67% |%:16.300. F:18.500, H:13.100
[JL2009 | 7' 1400 | 74% 4.100. H:14.100
L2019 | 7 400 | 76%
FLUE (37 T2%) 34_JL2000 | 7' 7.700 84%
[JL2006 | 7 400 | 76%
[JL2008 | 7 900 |77
[JL2010 | 7 000 | 62
2016 | 7 000 |62 :
RRCRE)=REX RRCPE)F [ JL623 | 7 7,400 82! R N N
[_JL625 [ 7 9,500 77 5:10.500. 700, £:11,800, £:13,900
1627 | 7 ,000 7 A:12,200, :12,500,
1629 | 7 ,000 7 A:12,200, :12,500,
L631 | 7 ,000 7 A:12.200, A:12,500,
L633 | 7 100 | 69% | A:12,000, 7K:12,200, &
L637 | 7 000 | 71% |A:12900, £:13,600, £
L639 | 7 ,200 71% [5:12.800, X:12,000, .
BEA% | _JL622 | 7 200 71% |H:12.800, A:12,000, *:
[JL624 | 7 800 | 69% |k
[ JL626 | 7 800 | 69% |k
[ JL628 | 7' 000 | 7 B:
L 7 000 | 7 B:
L 7 000 | 7 F:12.200, %:13,900, £:12,200, B
L 7! ,000 7 A:12.200, 13,900, £:12,200, H:13,900
L 7 ,900 |69 200, 7K:12,200
RR(PE)-BRE | Rm(HE) 5 |_JL 7 5300 | 88% 700
L 7 7,400 700
L 7 500 4,100, 79,000, £:9,000, £:10,200. H:7.900
L 7 500
[JL649 | 7 500
[ JL651 | 7 500 £:9,900
[ JL653 | 7 500 £:9,700, £:9,700, H:9,500
L655 | 7 500 £:9.700. £:9,700. B:
BEREBRE L 7 400
L 7 500
L 7 500
L 7 ,000
7 500 81%
7 500 81%
7 ,000 80%
7 ,000 80%
KR (=38 KR (B % 7 700 | 74% | F:9200
7 600 71% 700, B:9,100
7 200 75% 900, H:9.700
7 700 71% :9.400, H:10,700
HinR 7 600 71%
7 200 75%
7! 700 7% 200, A:7.400,
7 6.200 81% :5,700, A:5.900,
KR (B FD =Faill KR (B % 7 9400 | 5% 0,400
7 7,400 62% 800
7 9,400 52% 700, 9,600, £:8,900, H:10.400
PIIES 7 9,100 53% 400, 8,900, 1:10.400
7 9,400 52% 600
7 10,100 | 48% 110,700, #:10,500, £:8.900
IR FHTFR)-ES RS L3403 | 7 15,200 71% | k:9,000. 7K:10,800, A:10,800. £:16,100, £:16.100
4L (3 F ) %] JL3406 | 7 15200 | 71% [A:10,800. %:9,000. 7K:10,800. H:16,100

JAL



